IBM Aptitude Numerical series 

Numerical series tests are a type of numerical aptitude test which require you to find the missing number in a sequence. This missing number may be at the beginning or middle but is usually at the end.
	Identify the missing number in the series.

	  

	  
	A
	B
	C
	D
	E
	  

	1) 4, 8, 16, 32, ?
	48
	64
	40
	46
	44
	  

	  
	  
	  
	  
	  
	  
	  

	  
	A
	B
	C
	D
	E
	  

	2) 4, 8, 12, 20, ?
	32
	34
	36
	38
	40
	  

	  
	  
	  
	  
	  
	  
	  

	  
	A
	B
	C
	D
	E
	  

	3) 54, 49, ?, 39, 34
	47
	44
	45
	46
	42
	  

	  
	  
	  
	  
	  
	  
	  

	  
	A
	B
	C
	D
	E
	  

	4) ?, 19, 23, 29, 31
	12
	15
	16
	17
	18
	  


These number sequences can be quite simple like the examples above. However, you will often see more complex questions where it is the interval between the numbers that is the key to the sequence.
	Identify the missing number in the series.

	  

	  
	A
	B
	C
	D
	E
	  

	5) 3, 6, 11, 18, ?
	30
	22
	27
	29
	31
	  

	  
	  
	  
	  
	  
	  
	  

	  
	A
	B
	C
	D
	E
	  

	6) 48, 46, 42, 38, ?
	32
	30
	33
	34
	35
	  


These numerical series test questions usually consist of four visible numbers plus one missing number. This is because the test designer needs to produce a sequence into which only one number will fit. The need to avoid any ambiguity means that if the number sequence relies on a more complex pattern then there will need to be more visible numbers. For example;
	Identify the missing number in the series.

	  

	  
	A
	B
	C
	D
	E
	  

	7) 4, 3, 5, 9, 12, 17, ?
	32
	30
	24
	26
	22
	  

	  
	  
	  
	  
	  
	  
	  

	  
	A
	B
	C
	D
	E
	  

	8) 5, 6, 7, 8, 10, 11, 14, ?, ?
	19
	17
	15
	16
	21
	  

	  
	  
	  
	  
	  
	  
	  

	  
	A
	B
	C
	D
	E
	  

	9) 1, ?, 4, 7, 7, 8, 10, 9, ?
	6
	3
	11
	13
	12
	  


Answers
1. B – The numbers double each time
2. A – Each number is the sum of the previous two numbers
3. B – The numbers decrease by 5 each time
4. D – The numbers are primes (divisible only by 1 and themselves)
5. C – The interval, beginning with 3, increases by 2 each time
6. B – The interval, beginning with 2, increases by 2 and is subtracted each time
7. D – Each number is the sum of the previous and the number 3 places to the left 
8. C A – There are 2 simple interleaved sequences  5,7,10,14,19 and 6,8,11,15
9. A D – There are 2 simple interleaved sequences  1,4,7,10,13 and 6,7,8,9

IBM CRITICAL REASONING 
CRITICAL REASONING : THERE WILL BE 13 PASSAGES WITH 50 QUESTIONS TIME 30 MIN.

HERE I AM SENDING ONLY SOME OF THE PASSAGES (these will give only rough idea)

(ANSWERS WILL BE AS YES/NO/CAN'T SAY we are giving our answers, please check.)

1. My father has no brothers. he has three sisters who has two Childs each.

1> my grandfather has two sons (f)

2> three of my aunts have two sons (can't say)

3> my father is only child to his father (f)

4> I have six cousins from my mother side (f)

5> I have one uncle (f)

2. Ether injected into gallbladder to dissolve gallstones. This type one-day treatment is 

enough for gallstones not for calcium stones. This method is alternative to surgery for millions of people who are suffering from this disease.

1> calcium stones can be cured in one day (f)

2> hundreds of people contains calcium stones(can't say)

3> surgery is the only treatment to calcium stones(t)

4> either will be injected into the gallbladder to cure the cholesterol

based gall stones(t).

3. Hacking is illegal entry into other computer. This is done mostly because of lack of knowledge of computer networking with networks one machine can access to another machine. Hacking go about without knowing that each network is accredited to use network facility.

    1> Hacking people never break the code of the company which they

    work for (can't say).

    2> Hacking is the only vulnerability of the computers for the usage

    of the data.(f)

    3> Hacking is done mostly due to the lack of computer knowledge (f).

(there will be some more questions in this one )

4. Alpine tunnels are closed tunnels. In the past 30 yrs not even a single accident has been recorded for there is one accident in the railroad system. Even in case of a fire accident it is possible to shift the passengers into adjacent wagons and even the living fire can be detected and extinguished with in the duration of 30 min.


 

    1> no accident can occur in the closed tunnels (True)

    2> fire is allowed to live for 30 min. (False)

    3> All the care that travel in the tunnels will be carried by rail

    shutters.(t)

    4>

5. In the past helicopters are forced to ground or crash because of the formation of the ice on the rotors and engines. A new electronic device has been developed which can detect the water content in the atmosphere and warns the pilot if the temperature is below freezing temp about the formation of the ice on the rotors and wings.

    1> the electronic device can avoid formation of the ice on the wings (False).

    2> There will be the malfunction of rotor & engine because of formation of ice (t)

    3> The helicopters are to be crashed or down (t)

    4> There is only one device that warn about the formation of ice (t).

6.In the survey conducted in mumbai out of 63 newly married house wives not a single house wife felt that the husbands should take equal part in the household work as they felt they loose their power over their husbands. In spite of their careers they opt to do the kitchen work themselves after coming back to home. The wives get half as much leisure time as the husbands get at the weekends.

    1> housewives want the husbands to take part equally in the household (f)

    2> wives have half as much leisure time as the husbands have (f)

    3> 39% of the men will work equally in the house in cleaning and washing

    7. Copernicus is the intelligent. In the days of Copernicus the transport and technology development was less & it took place weeks to communicate a message at that time. Where in we can send it through satellite with in no time ----------. Even with these fast developments it has become difficult to understand each other.

    1> people were not intelligent during Copernicus days (f).

    2> Transport facilities are very much improved in now a days (can't say)

3> Even with the fast developments of the technology we can't live happily.(can't say)

    4> We can understand the people very much with the development of communication (f).


 

Q8) senior managers warned the workers that because of the introductory of Japanese industry in the car market. There is the threat to the workers. They also said that there will be the reduction in the purchase of the sales of car in public. The interest rates of the car will be increased with the loss in demand.

1> Japanese workers are taking over the jobs of Indian industry (false)

2> managers said car interests will go down after seeing the raise in interest rates (true)

3> Japanese investments are ceasing to end in the car industry (false)

4> people are very much interested to buy the cars (false)

Q9) In the totalitarian days, the words have very much devalued. In the present day, they are becoming domestic that is the words will be much more devalued. In those days, the words will be very much affected in political area. But at present, the words came very cheap .we can say they come free at cost.

1> totalitarian society words are devalued.(false)

2> totalitarian will have to come much about words (t)

3> The art totalitarian society the words are used for the political speeches.

4>

Q10) There should be copyright for all arts. The reele has came that all the arts has come under one copy right society,they were use the money that come from the arts for the developments . There may be a lot of money will come from the Tagore works. We have to ask the benifiters from Tagore work to help for the development of his works.

1> Tagore works are came under this copy right rule.(f)

2> People are free to go to the because of the copy right rule.(can't say)

3> People gives to theater and collect the money for development.(can't say)

4> We have ask the Tagore resedents to help for the developments of art.(can't say)

VOCABULARY

 

Admonish= usurp 
Adhesive = tenacious, sticky, glue, gum, bonding agent
Alienate = estrange
Bileaf = big screen, big shot, big success
Belief = conviction
Baffle = puzzle
Brim = edge
Covet = to desire
Caprice = whim
Concur = similar, acquiesce
Confiscate = appropriate, to take charge, to annex
Cargo = load, luggage
Dispel = scatter
Divulge = reveal, make known, disclose
Discretion = prudence
Emancipate = liberate
Efface = obliterate
Embrace = hug, hold, cuddle
Furtive = stealthy
Heap = to gather
Hamper = obstruct
Heap = to pile
Hover = linger
Incentive = spur
Instigate = incite
Inert = passive
Latitude = scope
Lethargy = stupor
Lamont = lakes, lamentable
Lament = wail
Latent = potential
Merry = Enjoy
Meager = small, little, scanty
Misery = distress
Momentary = for small time 
Merit = to deserve
Miserable = unhappy, sad
Obstinate = stubborn
Overt = obvious, clear, explicit, evident
Pretentious = ostentatious
Potential = ability
Rinaile = rigorous
Renounce= reject
Solicit = Humble, urge
Subside = wane
Stifle = snits
Tranquil = calm, silent, serene
To merit- to deserve
Volume = quantity
Veer = diverge
Wethargy = well wisher
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    For example, consider a tree with 3 nodes(n=3), it will have the maximum combination of 5 different (ie, 23 - 3 = 5) trees.


 


 


 


 

        i        ii        iii         iv         v

    In general:

    If there are n nodes, there exist 2n-n different trees. 
1. List out few of the Application of tree data-structure?
· The manipulation of Arithmetic expression,

· Symbol Table construction,

· Syntax analysis.


 

1. List out few of the applications that make use of Multilinked Structures?
· Sparse matrix,

· Index generation.

1. In tree construction which is the suitable efficient data structure?
    (a) Array (b) Linked list (c) Stack (d) Queue (e) none
(b) Linked list

1. What is the type of the algorithm used in solving the 8 Queens problem?
    Backtracking

1. In an AVL tree, at what condition the balancing is to be done?
    If the 'pivotal value' (or the 'Height factor') is greater than 1 or less than –1.


 

1. What is the bucket size, when the overlapping and collision occur at same time?
    One. If there is only one entry possible in the bucket, when the collision occurs, there is no way to accommodate the colliding value. This results in the overlapping of values.

1. Traverse the given tree using Inorder, Preorder and Postorder traversals.

 


 


 


 


 


 


 


 


 


 

· Inorder :    D H B E A F C I G J

· Preorder:    A B D H E C F G I J

· Postorder:    H D E B F I J G C A


 

1. There are 8, 15, 13, 14 nodes were there in 4 different trees. Which of them could have formed a full binary tree?
15. 

In general:

    There are 2n-1 nodes in a full binary tree.
By the method of elimination:
Full binary trees contain odd number of nodes. So there cannot be full binary trees with 8 or 14 nodes, so rejected. With 13 nodes you can form a complete binary tree but not a full binary tree. So the correct answer is 15.

Note:
    Full and Complete binary trees are different. All full binary trees are complete binary trees but not vice versa. 
1. In the given binary tree, using array you can store the node 4 at which location?


 


 


 

At location 6


 

        

	1 
	2 
	3 
	- 
	- 
	4 
	- 
	- 
	5 


        

	Root 
	LC1 
	RC1 
	LC2 
	RC2 
	LC3 
	RC3 
	LC4 
	RC4 


where LCn means Left Child of node n and RCn means Right Child of node n

1. Sort the given values using Quick Sort?
    

	65 
	70 
	75 
	80 
	85 
	60 
	55 
	50 
	45 


    Sorting takes place from the pivot value, which is the first value of the given elements, this is marked bold. The values at the left pointer and right pointer are indicated using L and R respectively.    

	65 
	70L
	75 
	80 
	85 
	60 
	55 
	50 
	45R


Since pivot is not yet changed the same process is continued after interchanging the values at L and R positions


 

	65 
	45 
	75 L
	80 
	85 
	60 
	55 
	50 R
	70 

	65 
	45 
	50 
	80 L
	85 
	60 
	55 R
	75 
	70 

	65 
	45 
	50 
	55 
	85 L
	60 R
	80 
	75 
	70 

	65 
	45 
	50
	55 
	60 R
	85 L
	80 
	75 
	70 


        When the L and R pointers cross each other the pivot value is interchanged with the value at right pointer. If the pivot is changed it means that the pivot has occupied its original position in the sorted order (shown in bold italics) and hence two different arrays are formed, one from start of the original array to the pivot position-1 and the other from pivot position+1 to end.

	60 L
	45 
	50 
	55 R
	65 
	85 L
	80 
	75 
	70 R

	55 L
	45 
	50 R
	60 
	65 
	70 R
	80 L
	75 
	85 

	50 L
	45 R
	55 
	60 
	65 
	70 
	80 L
	75 R
	85 


In the next pass we get the sorted form of the array.

	45 
	50 
	55 
	60 
	65 
	70
	75 
	80 
	85 


1. For the given graph, draw the DFS and BFS?
    


 


 


 


 


 


 


 

· BFS:    A X G H P E M Y J

· DFS:    A X H P E Y M J G

1. Classify the Hashing Functions based on the various methods by which the key value is found.
· Direct method,

· Subtraction method,

· Modulo-Division method,

· Digit-Extraction method,

· Mid-Square method,

· Folding method,

· Pseudo-random method.     

IBM freshers papers new 

1. hat is data structure?
A data structure is a way of organizing data that considers not only the items stored, but also their relationship to each other. Advance knowledge about the relationship between data items allows designing of efficient algorithms for the manipulation of data.

1. List out the areas in which data structures are applied extensively?    

 

· Compiler Design,

· Operating System,

· Database Management System,

· Statistical analysis package,

· Numerical Analysis,

· Graphics,

· Artificial Intelligence,

· Simulation


 

1. What are the major data structures used in the following areas : RDBMS, Network data model & Hierarchical data model.
· RDBMS – Array (i.e. Array of structures)

· Network data model – Graph

· Hierarchical data model – Trees


 

1. If you are using C language to implement the heterogeneous linked list, what pointer type will you use?
The heterogeneous linked list contains different data types in its nodes and we need a link, pointer to connect them. It is not possible to use ordinary pointers for this. So we go for void pointer. Void pointer is capable of storing pointer to any type as it is a generic pointer type.


 

1. Minimum number of queues needed to implement the priority queue?
Two. One queue is used for actual storing of data and another for storing priorities.


 

1. What is the data structures used to perform recursion?
Stack. Because of its LIFO (Last In First Out) property it remembers its 'caller' so knows whom to return when the function has to return. Recursion makes use of system stack for storing the return addresses of the function calls. 

    Every recursive function has its equivalent iterative (non-recursive) function. Even when such equivalent iterative procedures are written, explicit stack is to be used. 


 

1. What are the notations used in Evaluation of Arithmetic Expressions using prefix and postfix forms?
    Polish and Reverse Polish notations.


 

1. Convert the expression ((A + B) * C – (D – E) ^ (F + G)) to equivalent Prefix and Postfix notations.
    Prefix Notation:

    ^ - * +ABC - DE + FG
Postfix Notation:

    AB + C * DE - - FG + ^

1. Sorting is not possible by using which of the following methods?
    (a) Insertion 
    (b) Selection 
    (c) Exchange 
    (d) Deletion

 

    (d) Deletion.

Using insertion we can perform insertion sort, using selection we can perform selection sort, using exchange we can perform the bubble sort (and other similar sorting methods). But no sorting method can be done just using deletion.


 

1. A binary tree with 20 nodes has null branches?
    21

    Let us take a tree with 5 nodes (n=5) 


 


 


 


 


 


 


 


 


 

It will have only 6 (ie,5+1) null branches. In general, 

    A binary tree with n nodes has exactly n+1 null nodes. 
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1. In 1978, a kg of paper was sold at Rs25/-. I f the paper rate 
increases at 1.5% more than inflation rate which is of 6.5% a year
, then what wil be the cost of a kg of paper after 2 years?
a)29.12 (b) 29.72 (c) 30.12 (d) 32.65 (e) none of these

2. In A,B,C are having some marbles with each of them. A has giben
B and C the same number of marbles they already have to each of them.
then, B gave C and A the same no. of marbles they have, then C gave
A and B the same no. of marbles they have. At the 
end A,B,and C have equal no. of marbles.
(i) If x,y,z are the marbles initially with A,B,C respectively.
then the no of marbles B have at the end
(a) 2(x-y-z) (b) 4(x-y-z) etc.

(ii)If the total no. of marbles are 72, then the no. of marbles with A at the starting
a. 20 b. 30 c. 32

3. If a car starts from A towards B with some velocity due to some
problem in the engine after travelling 30km.If the car goes with
4/5 th of its actuval velocity the car reaches B 45min later to the
actual time. If the car engine fails ofter travelling 
45km, the car reaches the destination B 36min late to the actual
time , what is the initial velocity of car and what is the distance between A and B in km
ans) 20 & 130.

4. A person has Rs 100/- in his pocket, he can as 25 pencils or 15books.
He kept 15% of the money for travelling expenses and purchased 5
pencils.So how many books he can purchase with the remaining money.

5. ten questions on analogies.
ex: hammer : carpenter ::

knife : butcher.

6. The values of shares A,B and C from january to june are as follows.

month A B C

JAN 30 60 80
FEB 35 65 85
MAR 45 75 65
APR 40 75 82
MAY 55 75 85
JUNE 50 75 80

i) During this period which share has undergone max fluctuation?

ii) In which month it is possible to buy B and C selling A?

iii) In which month the share values are very low?

iv) By purchasing one share of A and 4 each of B and C in the beginning
of the period , to get max profit when this shares should be sold?
v) ?

7. In a computer institute 9 languages can taught. The module is
of 6 months duration and only six languages each of one month can
be taught. In addition to that BASIC is always there and should be in first month itself
# word perfect is to be taught in the preceeding week of word star.
# FORTRAN can not be taught until COBAL is coarsed prior to that
# BINO, FIFO never be taught in single module
languages are BASIC, WORD STAR, WORD PERFECT, FORTRAN, COBAL, BINO, FIFO, LOTUS, C

i. Of the following which module is possible based on above conditions.

ii) If word star is in 3rd month , what could be in 6th month.

iii) If COBAL is in the 2nd month and BINO in 6th month are there
in addition to the above condition, FORTRAN will be in which month.


8. In a class , except 18 all are above 50 years. 15 are below 50
years of age. how many people are there
a) 30 b) 33 c) 36 d) none of these.

9. A square plot of some size , at four corners equal squares of
some size are cut and is formed as open box. If this open box carries
128ml of oil. What is the size of the plate i.e. side
a.17 b.14 c.13

10. In a square , all the mid points are joined. the inner square
is shaded. If the area of the square is A, what is the shaded area?


11. (x#y) = x+y-xy
(x*y) = (x+y)/2

i) (x#y)#(x*y) < (x#y), which of the below values of x, y will satisfy this equation 

ii) (a*b)#(b*c)< (a#b)*(b*c) , what values of a,b,c satisfy the above. 


12) PATH = /bin : /usr : /yourhome
The file /bin/calender has the following line in it
cal 10 1997
The file /yourhome/calender has the following line in it
cal 5 1997
If the current directory is /yourhome and calender is executed

a) The calendar for May 1997 will be printed on screen
b) The calendar for Oct 1997 will be printed on screen
c) The calendar for the current month( whatever it is) will be printed
d) Nothing will get printed on screen
e) An error massage will be printed

13) what will be the result of the following program ?
char *gxxx()
{
static char xxx[1024];
return xxx;
}

main()
{
char *g="string";
strcpy(gxxx(),g);
g = gxxx();
strcpy(g,"oldstring");
printf("The string is : %s",gxxx());
}
a) The string is : string
b) The string is :Oldstring
c) Run time error/Core dump
d) Syntax error during compilation
e) None of these
Ans) b

14) What will be result of the following program?
void myalloc(char *x, int n)
{
x= (char *)malloc(n*sizeof(char));
memset(x,\0,n*sizeof(char));
}
main()
{
char *g="String";
myalloc(g,20);
strcpy(g,"Oldstring");
printf("The string is %s",g);
}
a) The string is : String
b) Run time error/Core dump
c) The string is : Oldstring
d) Syntax error during compilation
e) None of these
Ans) c ( check it )

15) which of the following function is used to repaint a window immediately
a) Sendmessage(hWnd,WM_PAINt,......)
b) InvalidateRect(.......)
c) MoveWindow
d) WM_COPY
e) None

16) which function is the entry point for a DLL in MS Windows 3.1
a) main
b) Winmain
c) Dllmain
d) Libmain
e) None
Ans) b

17) The standard source for standard input , standard output and standard error is
a) the terminal
b) /dev/null
c) /usr/you/input, /usr/you/output/, /usr/you/error respectively
d) NOne
Ans) a

18) What will be the result of the following program?
main()
{
char p[]="String";
int x=0;

if(p=="String")
{
printf("Pass 1");
if(p[sizeof(p)-2]=='g')
printf("Pass 2");
else
printf("Fail 2");
}
else
{
printf("Fail 1");
if(p[sizeof(p)-2]=='g')
printf("Pass 2");
else
printf("Fail 2");
}
}

a) Pass 1, Pass 2
b) Fail 1, Fail 2
c) Pass 1, Fail 2
d) Fail 1, Pass 2
e) syntax error during compilation

19) Which of the choices is true for the mentioned declaration ?
const char *p;
and
char * const p;
a) You can't change the character in both
b) First : You can't change the characterr &
Second : You can;t change the pointer
c) You can't change the pointer in both
d) First : You can't change the pointer &
Second : You can't chanage the character
e) None
Ans) b ( check it)

20) The redirection operators > and >>

a) do the same function
b) differ : > overwrites, while >> appends
c) differ : > is used for input while >> is used for output
d) differ : > write to any file while >> write only to standard output
e) None of these
Ans) b
Technical Placements papers IBM 



1. what is vector processing
ans: i dont no

2. what is data integrity
ans: option a ( like the range of values is defined by data integrity)

3.which topology takes minimum wiring
options: star,bus,ring and complete etc
ans: find it from network text book ( may be bus or ring)

4.best sorting if elements are already sorted
ans: insertion sort(sure)

5.software configuration management -----
ans: option a ( but check it from SE text book there are only 2 confusing answers)

6.In network the packers are flowing unnecessarly what is the way to control
it and ....
options: SNMP, and some i dont remember.

7.some octal no to decimal conversion
for given octal no the last digit was 7
ans: the option a ( the decimal last digit was 1)

8.x-=y+1 is equivalant to
ans: x=x-y-1 (sure) because it is interpreted as x=x-(y+1) 
9. in a student form what is the relationship b/w student and course
ans: actually it is many to one but they specified in a student form
so think and write.

10.which is correct to append the ouput of ls and who to some file x.
ans:(who;ls)>>x (check it)

11.what is trigger in DBMS (know what it will do)


12.what happens when we open a file in r+ mode
like whether file will be created if it s not there can we write to file ...
13. what is ROM
ans: it contains boot up program and it is not accesible
that was one answer and anothe option was
it is non volatile ( choose one among these 2)
14. what is int (*a)[4]
ans: pointer to an array of 4 integer (check it)

15. primary key of anothe table is present and so on..........
ans: foreign key

16. what is the diffirenece b/w 0123 and 123 in c?
ans:40(sure)

17. which among the devices is spooled device
ans: printer(correct)

18. if u get error in adapter which device will u use?
ans: contact electronics student.
one of the option was voltometer. 

19. which is the real time application
ans: robotics


thats it i remember

dont email me for further clarifications because i wrote what all i know.

but one thing
they are changing papers but the quetions will be from previous quetion
papers combined.

i am in Computer Science Branch
take the advantage of branch for CS brach students.
--------
for girls
just get 25 in written for 40. and talk something in tech and HR
u will be in. best opportunity for girls its like 50% reservation for girls.
---------
and the pay package is 2.75 lakh per annum.

the cut off is 30 

final word: dont go blindly with this answers to exam conform all the answers
and then share this paper with all of u'r friends. they(IBM) need people badly 
so if all of u'r friends do well all of u will be in .

1. In 1978, a kg of paper was sold at Rs25/-.If the paper rate increases at 1.5% more than the inflation rate which is 6.5% a year, then what wil be the cost of a kg of paper after 2 years?
(a) 29.12 
(b) 29.72 
(c) 30.12 
(d) 32.65 
(e) none of these

2. In A,B,C are having some marbles with each of them. A has given B and C the same number of marbles each of them already have.Then, B gave C and A the same number of marbles they already have.Then C gave A and B the same number of marbles they already have.At the end A,B,and C have equal number of marbles.
(i) If x,y,z are the marbles initially with A,B,C respectively.
    Then the number of marbles B have at the end
(a) 2(x-y-z) 
(b) 4(x-y-z)
(c) 2(3y-x-z)
(d)  x + y-z
Ans. (c)
(ii) If the total number of marbles are 72, then the number of marbles with A at the starting
(a) 20 
(b) 30 
(c) 32
(d) 39
Ans. (d)

3. If a car starts from A towards B with some velocity.Due to some problem in the engine after travelling 30km, the car goes with 4/5 th of its actual velocity.The car reaches B 45 min later to the actual time.If the car engine fails ofter travelling 45km, the car reaches the destination B 36 min late to the actual time.What is the initial velocity of car and what is the distance between A and B in km
Ans. 20 & 130.

4. A person has Rs 100/- in his pocket, he can as 25 pencils or 15 books.He kept 15% of the money for travelling expenses and purchased 5 pencils.So how many books he can purchase with the remaining money.
5. Ten questions on analogies.
eg: chief : tribe :: governer : state
     epaulette : shoulder :: tiara : head 
     guttural : throat :: gastric : stomach
     inept : clever :: languid : active
     knife : butcher ::
     hammer : carpenter ::    

6. The values of shares (in Rs).of A, B and C from January to June are as follows.
	Month
	A
	B
	C

	January
	30
	60
	80

	February
	35
	65
	85

	March
	45
	75
	65

	April
	40
	75
	82

	May
	55
	75
	85

	June
	50
	75
	80


i) During this period which share has undergone maximium fluctuation?
ii) In which month it is possible to buy B and C selling A?
iii) In which month the share values are very low?
iv) By purchasing one share of A and 4 each of B and C in the beginning of the period, when should these be sold to get maximum profit?

7. In a computer institute 9 languages can be taught.The module is of 6 months duration and of the six languages only one can be taught each month.In addition to that BASIC is always taught and should be in first month itself. 
· WORD PERFECT is to be taught in the preceeding week of WORD STAR.
· FORTRAN can not be taught until COBAL is taught prior to that. 
· BINO, FIFO can never be taught in single module.
Languages are BASIC, WORD STAR, WORD PERFECT, FORTRAN, COBAL, BINO, FIFO, LOTUS, C.
i) If word star is in 3rd month , what could be in 6th month.
ii) If COBAL is in the 2nd month and BINO in 6th month. FORTRAN will be taught in which month.

8. In a class, except 18 all are above 50 years.15 are below 50 years of age. How many people are there?
(a) 30 
(b) 33 
(c) 36 
(d) none of these.
Ans. (d)

9. A square plate of some size is cut at four corners. Equal squares of the same size are cut and is formed as open box.If this open box carries 128 ml of oil. What is the size of the side of the plate?
(a) 17 
(b) 14 
(c) 13
(d) None of these

10. In a square, all the mid points are joined. The inner square is shaded.
      If the area of the square is A, what is the area of the shaded area?
11. Two questions on basic angles i.e given a circle, a few chords or diameter is drawn etc.

12. If the follwoing statements are given 
· @(a,b)= (a+b)/2 
· /(a,b)= a/b 
· *(a,b)= ab 
If a=1, b=2 then find
i) /(a,(@(a,b),*(a,b)))
ii) */(a,@(*(a,b)))
16. In UNIX a files i-node ......?
Ans. Is a data structure that defines all specifications of a file like the file size, number of lines to a file, permissions etc.

17. The UNIX shell ....
a) does not come with the rest of the system
b) forms the interface between the user and the kernal
c) does not give any scope for programming
d) deos not allow calling one program from with in another
e) all of the above
Ans. (b)

18. enum number { a=-1, b= 4,c,d,e}
      What is the value of e ?
(a) 7
(b) 4
(c) 5
(d) 15
(e) 3

19. The very first process created by the kernal that runs till the kernal process is halts is
a) init
b) getty
c) both (a) and (b)
d) none of these
Ans. (a)

20. Output of the following program is
main()
{int i=0;
for(i=0;i<20;i++)
{switch(i)
case 0:i+=5;
case 1:i+=2;
case 5:i+=5;
default i+=4;
break;}
printf("%d,",i);
}
}
a) 0,5,9,13,17
b) 5,9,13,17
c) 12,17,22
d) 16,21
e) Syntax error
Ans. (d)

21. What is the ouptut in the following program?
main()
{char c=-64;
int i=-32
unsigned int u =-16;
if(c>i)
{printf("pass1,");
if(c<u)
printf("pass2");
else
printf("Fail2");
}
else
printf("Fail1);
if(i<u)
printf("pass2");
else
printf("Fail2")
}
a) Pass1,Pass2
b) Pass1,Fail2
c) Fail1,Pass2
d) Fail1,Fail2
e) None of these
Ans. (c)

22. In the process table entry for the kernel process, the process id value is
(a) 0 
(b) 1 
(c) 2 
(d) 255 
(e) it does not have a process table entry
Ans. (a)

23. Which of the following API is used to hide a window
a) ShowWindow
b) EnableWindow
c) MoveWindow
d) SetWindowPlacement
e) None of the above
Ans. (a)

24. What will the following program do?
void main()
{
int i;
char a[]="String";
char *p="New Sring";
char *Temp;
Temp=a;
a=malloc(strlen(p) + 1);
strcpy(a,p); //Line number:9//
p = malloc(strlen(Temp) + 1);
strcpy(p,Temp);
printf("(%s, %s)",a,p);
free(p);
free(a);
} //Line number 15//
a) Swap contents of p & a and print:(New string, string)
b) Generate compilation error in line number 8
c) Generate compilation error in line number 5
d) Generate compilation error in line number 7
e) Generate compilation error in line number 1
Ans. (b)

25. In the following code segment what will be the result of the function, value of x , value of y
{unsigned int x=-1;
int y;
y = ~0;
if(x == y)
printf("same");
else
printf("not same");
}
a) same, MAXINT, -1
b) not same, MAXINT, -MAXINT
c) same , MAXUNIT, -1
d) same, MAXUNIT, MAXUNIT
e) not same, MAXINT, MAXUNIT
Ans. (a)

26. PATH = /bin : /usr : /yourhome
      The file /bin/calender has the following line in it
cal 10 1997
The file /yourhome/calender has the following line in it
cal 5 1997
If the current directory is /yourhome and calender is executed
a) The calendar for May 1997 will be printed on screen
b) The calendar for Oct 1997 will be printed on screen
c) The calendar for the current month( whatever it is) will be printed
d) Nothing will get printed on screen
e) An error massage will be printed

27. What will be the result of the following program ?
char *gxxx()
{static char xxx[1024];
return xxx;
}
main()
{char *g="string";
strcpy(gxxx(),g);
g = gxxx();
strcpy(g,"oldstring");
printf("The string is : %s",gxxx());
}
a) The string is : string
b) The string is :Oldstring
c) Run time error/Core dump
d) Syntax error during compilation
e) None of these
Ans. (b)

28. What will be result of the following program?
void myalloc(char *x, int n)
{x= (char *)malloc(n*sizeof(char));
memset(x,\0,n*sizeof(char));
}
main()
{char *g="String";
myalloc(g,20);
strcpy(g,"Oldstring");
printf("The string is %s",g);
}
a) The string is : String
b) Run time error/Core dump
c) The string is : Oldstring
d) Syntax error during compilation
e) None of these

29. Which of the following function is used to repaint a window immediately
a) Sendmessage(hWnd,WM_PAINt,......)
b) InvalidateRect(.......)
c) MoveWindow
d) WM_COPY
e) None

30. Which function is the entry point for a DLL in MS Windows 3.1
a) Main
b) Winmain
c) Dllmain
d) Libmain
e) None
Ans. (b)

31. The standard source for standard input, standard output and standard error is
a) the terminal
b) /dev/null
c) /usr/you/input, /usr/you/output/, /usr/you/error respectively
d) None
Ans. (a)

32. What will be the result of the following program?
main()
{char p[]="String";
int x=0;
if(p=="String")
{printf("Pass 1");
if(p[sizeof(p)-2]=='g')
printf("Pass 2");
else
printf("Fail 2");
}
else
{
printf("Fail 1");
if(p[sizeof(p)-2]=='g')
printf("Pass 2");
else
printf("Fail 2");
}
}
a) Pass 1, Pass 2
b) Fail 1, Fail 2
c) Pass 1, Fail 2
d) Fail 1, Pass 2
e) syntax error during compilation

33. Which of the choices is true for the mentioned declaration ?
const char *p;
and
char * const p;
a) You can't change the character in both
b) First : You can't change the characterr & Second : You can;t change the pointer
c) You can't change the pointer in both 
d) First : You can't change the pointer & Second : You can't chanage the character
e) None

34. The redirection operators > and »
a) do the same function
b) differ : > overwrites, while » appends
c) differ : > is used for input while » is used for output
d) differ : > write to any file while » write only to standard output
e) None of these
Ans. (b)

35. The command grep first second third /usr/you/myfile
a) prints lines containing the words first, second or third from the file /usr/you/myfile
b) searches for lines containing the pattern first in the files
second, third, and /usr/you/myfile and prints them
c) searches the files /usr/you/myfiel and third for lines containing the words first or second and prints them
d) replaces the word first with the word second in the files third and /usr/you/myfile
e) None of the above
Ans. (b)
1. In 1978, a kg of paper was sold at Rs25/- If the paper rate increases at 1.5% more than the inflation rate which

    is 6.5% a year, then what will be the cost of a kg of paper after 2 years?(a) 29.12
        (b) 29.72
        (c) 30.12
        (d) 32.65                                                                                                            
        (e) none of these
2. In A,B,C are having some marbles with each of them. A has given B and C the same number of marbles each

    of them already have. Then, B gave C and A the same number of marbles they already have.Then C gave A

    and B the same number of marbles they already have.At the end A,B,and C have equal number of marbles.

    (i) If x,y,z are the marbles initially with A,B,C respectively. Then the number of marbles B have at the end

         (a) 2(x-y-z)
         (b) 4(x-y-z)
         (c) 2(3y-x-z)
         (d)  x + y-z

         Ans. (c)

    (ii) If the total number of marbles are 72, then the number of marbles with A at the starting

      (a) 20
      (b) 30
      (c) 32
      (d) 39

      Ans. (d)
3. If a car starts from A towards B with some velocity. Due to some problem in the engine after travelling 

   30km, the car goes with 4/5 th of its actual velocity The car reaches B 45 min later to the actual time.If the

   car engine fails ofter travelling 45km, the car reaches the destination B 36min late to the actual time What

   is the initial velocity of car and what is the distance between A and B in km

   Ans. 20 & 130.
4. A person has Rs 100/- in his pocket, he can as 25 pencils or 15 books.  He kept 15% of the money for 

    travelling expenses and purchased 5 pencils. So how many books he can purchase with the remaining money.

5. Ten questions on analogies.

     eg: chief : tribe :: governor : state
          epaulette : shoulder :: tiara : head
          guttural : throat :: gastric : stomach
          inept : clever :: languid : active
          knife : butcher ::
          hammer : carpenter :: 
7.  In a
computer institute 9 languages can be taught. The module is of 6 months duration and of the six languages 

     only one can be taught each month . In addition to that BASIC is always taught and should be in first month itself

    *

      WORD PERFECT is to be taught in the preceeding week of WORD STAR.
    *

      FORTRAN can not be taught until COBAL is taught prior to that
    *

      BINO, FIFO can never be taught in single module

  Languages are BASIC, WORD STAR, WORD PERFECT, FORTRAN, COBAL, BINO, FIFO, LOTUS, C

      i) If word star is in 3rd month , what could be in 6th month.                                              
      ii) If COBAL is in the 2nd month and BINO in 6th month. FORTRAN will be taught in which month.
8. In a class, except 18 all are above 50 years.15 are below 50 years of age. How many people are there

       (a) 30
        (b) 33
        (c) 36
        (d) none of these.

        Ans. (d)
9.  A square plate of some size is cut at four corners. Equal squares of the same size are cut and is formed as open 

      box.If this open box carries 128 ml of oil. What is the size of the side of the plate?

       (a) 17
      (b) 14
      (c) 13
      (d) None of these
10. In a square, all the mid points are joined. The inner square is shaded. If the area of the square is A, what is the 

      area of the shaded area?

11. Two questions on basic angles i.e given a circle, a few chords or diameter is drawn etc.
12. If the follwoing statements are given

    *

      @(a,b)= (a+b)/2
    *

      /(a,b)= a/b
    *

      *(a,b)= ab

      If a=1, b=2 then find

       i) /(a,(@(a,b),*(a,b)))

       ii) */(a,@(*(a,b)))
13. If the follwoing statements are given

    *

      (x#y) = x + y- xy
    *

      (x*y) = (x + y)/2

    i) Find the values of x, y will satisfy this equation (x#y)#(x*y) < (x#y)                              
    ii) Find the values of x, y will satisfy this equation (a*b)#(b*c)< (a#b)*(b*c)
14. Export PS1 results in(PS1 pwd)

      a) primary prompt being your current directory
      b) primary prompt and secondary prompts being the current directory
      c) primary prompt prompt being your home directory
      d) primary prompt and secondary prompts being the home directory
      e) None of the above.
15. If you type in the comman  nohup sort employees > list 2 > error out & and log off ,the next time you log in, 

      the output will be

        a) in a file called list and the error will de typed in a file error out
        b) there will be no file called list or error out
        c) error will be logged in a file called list and o/p will be in error out
        d) you will not be allowed to log in
        e) none of the above

16. In UNIX a files i-node ......?

    Ans. Is a data structure that defines all specifications of a file like the file size, number of lines to a file, permissions   

     etc.
17. The UNIX shell ....

      a) does not come with the rest of the system
      b) forms the interface between the user and the kernal
      c) does not give any scope for programming
      d) deos not allow calling one program from with in another
      e) all of the above

       Ans. (b)
18. enum number { a= -1, b= 4,c,d,e} What is the value of e ?                                          

      (a) 7
      (b) 4
      (c) 5
      (d) 15
      (e) 3
19. The very first process created by the kernal that runs till the kernal process is halts is

      a) init
      b) getty
     c) both (a) and (b)
     d) none of these

     Ans. (a)
20. Output of the following program is

        main()
        {int i=0;
         for(i=0;i<20;i++)
            {switch(i)
               case 0:i+=5;
               case 1:i+=2;
               case 5:i+=5;
               default i+=4;
                break;}
               printf("%d,",i);
              }
         }

      a) 0,5,9,13,17
      b) 5,9,13,17                                                                                                                   
      c) 12,17,22
      d) 16,21
      e) Syntax error

     Ans. (d)
21. What is the ouptut in the following program

               main()
                {char c=-64;
                 int i=-32
                 unsigned int u =-16;
                 if(c>i)
                {printf("pass1,");
                 if(c<u)
                 printf("pass2");
                else
                printf("Fail2");
                }
               else
              printf("Fail1);
              if(i<u)
             printf("pass2");
            else
           printf("Fail2")
         }

     a) Pass1,Pass2
     b) Pass1,Fail2
     c) Fail1,Pass2
     d) Fail1,Fail2                                                                                                                  
     e) None of these

      Ans. (c)
22. In the process table entry for the kernel process, the process id value is  

       (a) 0
       (b) 1
       (c) 2
      (d) 255
      (e) it does not have a process table entry

      Ans. (a)

23. Which of the following API is used to hide a window

        a) ShowWindow
        b) EnableWindow
        c) MoveWindow
        d) SetWindowPlacement
       e) None of the above

       Ans. (a)
24. What will the following program do?

        void main()
        {
          int i;
          char a[]="String";
          char *p="New Sring";
          char *Temp;
          Temp=a;
          a=malloc(strlen(p) + 1);
         strcpy(a,p); //Line number:9//
         p = malloc(strlen(Temp) + 1);
        strcpy(p,Temp);
        printf("(%s, %s)",a,p);
        free(p);                                                                                                                   
        free(a);
       } //Line number 15//

             a) Swap contents of p & a and print:(New string, string)
             b) Generate compilation error in line number 8
             c) Generate compilation error in line number 5
             d) Generate compilation error in line number 7
             e) Generate compilation error in line number 1

             Ans. (b)
25. In the following code segment what will be the result of the function,value of x , value of y
      {unsigned int x=-1;
        int y;
       y = ~0;
       if(x == y)
       printf("same");
       else
        printf("not same");
     }

    a) same, MAXINT, -1
    b) not same, MAXINT, -MAXINT
    c) same , MAXUNIT, -1
    d) same, MAXUNIT, MAXUNIT
    e) not same, MAXINT, MAXUNIT

    Ans. (a)
26. PATH = /bin : /usr : /yourhome The file /bin/calender has the following line in it  cal 10 1997The file      

      /yourhome/calender has the following line in it cal 5 1997 If the current directory is /yourhome and calender is 

      executed

           a) The calendar for May 1997 will be printed on screen
          b) The calendar for Oct 1997 will be printed on screen
         c) The calendar for the current month( whatever it is) will be printed
         d) Nothing will get printed on screen
         e) An error massage will be printed                                                                          
27. What will be the result of the following program ?

           char *gxxx()
          {static char xxx[1024];
           return xxx;
           }

          main() 
         {char *g="string";
           strcpy(gxxx(),g);
           g = gxxx();
          strcpy(g,"oldstring");
          printf("The string is : %s",gxxx());
         }

           a) The string is : string
           b) The string is :Oldstring
          c) Run time error/Core dump
          d) Syntax error during compilation
          e) None of these

         Ans. (b)
28. What will be result of the following program?

        void myalloc(char *x, int n)
         {x= (char *)malloc(n*sizeof(char));
         memset(x,\0,n*sizeof(char));
         }

          main()
         {char *g="String";
        myalloc(g,20);
        strcpy(g,"Oldstring");
       printf("The string is %s",g);
        }

       a) The string is : String
       b) Run time error/Core dump
      c) The string is : Oldstring                                                                                                    
      d) Syntax error during compilation
     e) None of these
29. Which of the following function is used to repaint a window immediatelya) Sendmessage(hWnd,WM_PAINt,......)
         b) InvalidateRect(.......)
        c) MoveWindow
       d) WM_COPY
       e) None
30. Which function is the entry point for a DLL in MS Windows 3.1    

        a) Main
        b) Winmain
        c) Dllmain
       d) Libmain
       e) None

      Ans. (b)

1. Speed of boat in still water is 10kmph..if it travels 24km downstream,16km upstream in the same
amount of time,what is the speed of the stream?
(a)3kmph
(b)3.5kmph
(c)2kmph
(d)...
2. A cube of 3 units is painted on all sides.If this cube is divided into cubes of 1 unit,how many cube
have none of their faces painted?
(a)..
. (b)2
(c)1
(d)0
(e)none of these
3. If a person sells a product for rs141/- he suffers a loss of 6%.if he has to have a profit of 10%,
at what price should he sell it?
(a)
(b)rs.175
(c)..
(d)rs.165
ans.rs.165 (i think,check)
4. A ball falls from a height of 8ft ,bounces back to half the distance & continues till it comes to rest.
what is the total distance travelled by the ball?
(a)24ft
(b)...
(c)infinite
(d)cannot be determined
ans:(a)
5. Which of the following is the sum of 3 consecutive prime nos?
(a)49
(b)59
(c)both a &b
(d)...
. ans:c
6. If the area of a square has increased by 69%,by what % has its side increased?
7. In a class the average age is 16yrs.if the teacher who is 40 yrs of age is also included ,the average becomes
17yrs,how many students were there?
8. If 3 houses are to be painted,mr A can paint a house in 6 days(nos are not same)...mr B can do the same in 8

days...& mr.C in 12 days.if mr A does the work for 8 days & leaves for vacation, & mr B continues the work
for the next 6 days, for how many days should mr.C work?
ans:11 days(check)
9. 4 thieves rob a bakery of the breadone after the other.each thief takes half of what is present ,& half a

bread...if at the end 3 bread remains,what is the no of bread that was present initiallly?
ans:63(check)
10. If the 1rst day of 1999 is a sunday,what is the last day?
(a)sunday
(b)monday
(c)....
(d)cannot be determined.
11. If A driver drives a car four times a lap 10,20 30,60 kmph what is his average speed.

ans:20kmph
In a group there are two kinds of people type A & type B.type A people answer for any question as YES &

that of type B as NO.if they can not answer to these question then they remain silent. the mayor asks question to

them as follows........
12. If he asks a person are u type A
a.YES b.NO c. Silent d.Can not be determined
13. He asks two persons X &Ysimultaneously whether u of same type
a. YES b. NO c.YES or NO d. Silent e. can not be determined
14. Pointing to a person X he asks Y what is his type

a. YES b. No c. Silent d can not be determined
15. Pointing to a person X he asks Y if I ask him whether r u type A ,will he answer YES.Y says NO .what type

of B is
a. YES b. NO . c. Silent d. can not be determined
16. Six squares of same dimension are kept side by side to make a rectangle with a perimeter of 182 cm. what is

the perimeter of each square.
ans) 52.
17. One student takes 20 mins to reach school if he goes at a speed of 15kmph .At what speed should he go to

reach in 15 mins ( nos are not same) ans: 16kmph( check)
18. How many rational numbers are there between 0 & 5
ans:infinite
19. A certain number of bullets were shared by 3 people equally.Each of them fired 4 bullets and the sum of the

remaining bullets was equal to the initial share each had got.what was the initial number of bullets?
ans:18..( 18/3=6;
6-4=2,6-4=2,6-4=2;
2+2+2=6=ans)
Technical:
20. A trigger is
(a) a statement ..start of database..
(b)statements that r executed as a side effect to the modification to the database
(c)...
(d)...
ans (b)
21. What does the following statement mean?
int (*a)[4]
(a)'a' is a pointer to an array of 4 integers
(b)'a' is an array of pointers to integer
(c)'a' is a pointer to function returning an integer
(d)...
ans:a
22. Best method to find out whether a given array already sorted,is sorted or not in min. time
ans. insertion sort (check)
23. A primary key in one table also present in some other table is called
(a)foreign key
(b)secondary key
(c)subordinate key

(d)...
ans. foreign key
24. Which of the following is a real time system?
(a)robotics control
(b)airline ticket reservation(ans)
(c)
(d)...
25. A question to convert a big no in decimal to octal(check only for the last 2 nos in ans is sufficient)
26. Which of the following is an example of a spooling device?
(a)..
(b)line printer.
. (c)
(d)
(e)...
27. If in a table:account no,account holders name,account type ,.....(something else was given)are the fields,which

of them could be the primary key?
(a)account no(ans)
(b)account holders name
(c)account type
(d)..
28. If a file is opened in "r+" mode(in C),it means
(b)read
(c)...
(d).....
29. What is the difference between 123 and 0123 in c?
(a)120
(b)40
(c)0
(d)...
ans:40
30. Software Configuration Management process is -
(a)developing & managing software for .....software..
.. (b)developing & managing hardware for....software.......
(c)...
(d)..
31. Data Integrity constraint is
(a)to ensure the presence of primary key
(b)...
(c)...
(d)...
32. Which of the following uses the minimum length of cable?
(a)ring
(b)star
(c)mesh
(d)bus
(e)all of the above
31. How can u append the ls and who to certain existing file (like that)(i.e.listing & output of who is to be directed

to a file
(a)ls;who>filename
(b)ls;who>>filename
(c)(ls;who)>>filename
(d)who;ls 
(e)...
34. Suppose u have a network .users complain of slow ....u suspect a problem in network adapter once u find that

the data is continuous and erroneous.what device do u use?
(a)volt-ohmmeter
(b)SNMP
(c)protocol... checking
(d)all of the above
35. What is vector processing?
36. x-=y+1 is equivalent to what?
(a)x=x-y+1
(b)...
(c)x=x-y-1
(d)...
ans:(c)
37. In a student form what is the relationship b/w student and course
(a)one to one
(b)many to one
(c)one to many
(d)many to many
38. ROM is
(a)volatile
(b)permanent & fast
(c)device containig boot up program & is not accessible
(d)...
I have given 38 questions out of 40 q's ...hope it will be useful 2 all of u... they didnt select any ec people 4

interview..:( only CS,IS..& 2 from TE. that's all from my side.. here are some hr questions as sent by jagannatha (CS-PESIT)

HR questions: 1. Why 2+2 is 4 why not 5. ans: assume u took 2 apples from A and 2 more apples from B and assume u are having 5 and give 2 to X and

give 2 more to Y then nothing will be with u i.e u lossed. (give some answers but dont say that it is like that only )

2. How may stones did hanuman thowned on lanka? ( diffirent but of same type)
and one more how many trees are there in u'r campus ...
ans:
dont say i dont no say some no for ex 1000 and say i.e correct . they wont say any thing for that because it is not

possible to disprove that .
3. why IBM and etc .........    

1) I give a jcl code with 
Programmer name: smith 
Jobname:ABC

Jobclass=c 
Message class = a 
All messages are to be displaced code it in a JCL. 
A) //ABC,smith,class=c,message class=a,message level=(2,1) 
B) //ABC,smith,class=c,message class=a,message level =(!,1) 
C) //ABC,smith,class=c,message class=a,message level=(0,1) 
D) none of these. 
2) for a cobol program 

Move 5 to work-sd.
A statement which says that the value of work-st is 0.
perform Para1.

Para1. 
Add 3 to work-sd 
Add 2 to work-st 

If work-st <11 go to main-para. 
……………… 

go to para1. 

Wat wud b the value of work-sd? 
a) 15 
b) 18 
c) 10 
d) none 

3) given 2 tables T1 and T2. 

T1 T2 
A 1 
B 2 
3 
u make a query 

SELECT * FROM T1,T2. 
Wat is the no: of rows that are fetched frm this query? 
a) 4 
b) 5 
c) 6 
d) 9 

4) wat is the full form of RACF? 
5) who is the data base manager of db2? 
a) buffer register 
b) runtime suprivisor 
c) DBRM 
d) None 

5)u have a file with DISP=SHR, when u open the file in output mode 
a) the records get appended 
b) the records gets overwritten 


c) the job abbends
d) none of these


6) u open a file with disp= MOD, when u open the file in output mode
(same options as the above question)
7) to exclude some records while sorting which parameter do we use?
a) OMIT
b) EXCLUDE
c) ….d)….


8)when u insert into db2 with cics, it works as
a) foreground
b) a job working in background
c) ..
d) …..


9)u have a dataset TIME.WORK.OCT88, u want to concatenate other datasets
like TIME.WORK.JUL88, TIME.WORK.APR88, TIME.WORK.MAY88. how do u do that?


a)//DDname DD DSN = TIME.WORK.OCT88, DISP = SHR 
DD DSN = TIME.WORK.JUL88, DISP = SHR 
DD DSN = TIME.WORK.APR88, DISP = SHR 
DD DSN = TIME.WORK.MAY88, DISP = SHR 

b)//DDname DD DSN = TIME.WORK.JUL88, DISP = SHR 

DD DSN = TIME.WORK.OCT88, DISP = SHR
DD DSN = TIME.WORK.APR88, DISP = SHR
DD DSN = TIME.WORK.MAY88, DISP = SHR


c)//DDname DD DSN = TIME.WORK.APR88, DISP = SHR 
DD DSN = TIME.WORK.JUL88, DISP = SHR 
DD DSN = TIME.WORK.MAY88, DISP = SHR 
DD DSN = TIME.WORK.OCT88, DISP = SHR 

e) none of these 

10) when db2 entries are made while working in cics, the enteries 
should be made in 
a) TCT 
b) PCT 
c) DCT 
d) RCT 

11) find the odd one out 
a) KSDS 
b) RRDS 
c) LDS 
d) PDS 

12) full form of VTOC 
13) question based on SKIP and COUNT parameter

IBM Top JSP interview questions 

1. Can you make use of a ServletOutputStream object from within a JSP page? 
2. Can a JSP page instantiate a serialized bean? 
3. Is it possible to share an HttpSession between a JSP and EJB? What happens when I change a value in the HttpSession from inside an EJB? 
4. What is the page directive is used to prevent a JSP page from automatically creating a session? 
5. How do you prevent the Creation of a Session in a JSP Page and why? 
6. How do I include static files within a JSP page? 
7. How can I implement a thread-safe JSP page? 
8. How do I mix JSP and SSI #include? 
9. Can a JSP page process HTML FORM data? 
10. What JSP lifecycle methods can I override? 
11. How do I perform browser redirection from a JSP page? 
12. Is there a way to reference the "this" variable within a JSP page? 
13. Can I stop JSP execution while in the midst of processing a request? 
14. How do I use comments within a JSP page? 
15. How do I prevent the output of my JSP or Servlet pages from being cached by the browser? 
16. How does JSP handle run-time exceptions? 
17. How do I use a scriptlet to initialize a newly instantiated bean? 
18. How can I enable session tracking for JSP pages if the browser has disabled cookies? 
19. How can I declare methods within my JSP page? 
20. How can I set a cookie and delete a cookie from within a JSP page? 
21. Is there a way I can set the inactivity lease period on a per-session basis? 
22. How does a servlet communicate with a JSP page? 
23. How do I have the JSP-generated servlet subclass my own custom servlet class, instead of the default? 
24. How do you pass control from one JSP page to another? 
25. How do you restrict page errors display in the JSP page? 
26. How do you call stored procedures from JSP? 
27. How do you connect to the database from JSP? 
28. What is Declaration? 
29. What is difference between scriptlet and expression? 
30. What is jsp:use bean. What are the scope attributes & difference between these attributes? 
31. What are the implicit objects in JSP & differences between them? 
32. What are Custom tags. Why do you need Custom tags. How do you create Custom tag? 
33. What is the difference between include directive & jsp:include action? 
34. What are advantages of JSP? 
35. What is JSP? 
36. Can a single JSP page be considered as a J2EE application? 
37. How to call EJB from JSP. 
38. What is the architecture of JSP? 
39. What is the difference between servlet session and jsp session? 
40. Why should we setContentType() in servlet ?what is the use of that method? 
41. When jsp is compiled into servlet, where the servlet is actually stored(storage location)? 
42. How to generate BAR & PIE Graphs using JSP code…? 
43. What is the diff. b/n declaring members in and declaraing in jspinit() method ? 
44. How to check the value in the text field is not a number 
45. what is the use of extends in jsp…we we want to import a class in current jsp file which i am working how can i do that …if i use extnds for that means how can i do that…pls explain me this 
46. I have a String name & Map m, in my bean class. I have get & set methods on both. To Display the String name, i do The above one works fine. Te below one, displays the entire Map contents I know the KEY, how do i display the VALUE for that KEY 
47. What is the difference between , pagedirective include, action tag include ? 
48. What are the default objects provided by JSP container? Other than page, request, session and context objects. 
49. What is the default scope of jsp tags? 
50. When many Users are browsing the same application at the same time and they click the "Submit" button will many objects be created for each and every User? 
51. What is the difference between Difference between doGet() and doPost()? 
52. How do we perform redirect action without using response.sendRedirect(" "); 
53. A] Is the response.sendRedirect ends the existing session? B] If I logged in to a site ( say a.com) & then in same browser window I type the url for another site (say b.com), then does my session gets ended on first site ( a. com ) ? 
54. How to overwrite the init and destroy method in a jsp page. 
55. Where do we use hidden variables and url rewriting? and wat is the difference between them? 
56. What is the difference between session and cookie ? 
57. How to pass java script array to jsp page? 
58. What is the difference betweeen JSP forward and servlet forward methods? 
59. Where can we find the compiled file of jsp in the directory struture. 
60. How we abort jsp page from a servlet 
61. What is difference between getAttribute() and getParameter()? 
62. What is the diff. b/w PAGE,APPLICATION and SESSION implicit objects of JSP? 
63. Wat is the difference between and in jsp..wen translate into servlet..wer it is stored in servlet..can we create global variables in jsp..if yes then how?? 
64. How can i restrict the user from Clicking of Back button in any browser 
65. In one class i stored the key and values in the hashmap.so using key value i have to check wheter the value for key is correct or not.so how to retreive the key and values in jsp page 
66. What is the differnce between application server and web server 
67. What is use of implict Objects?why the container is given those one? 
68. How to delete cookies in JSP? 
69. In Oracle table some fields are "null".By default it will show as "null" in JSP page text box.But i dont want that. I want as blank textbox.What i can do for that? 
70. In Internet explorer if we give a jsp , How the server will know it has to execute? 
71. How the jsp changes will be effected in servlet file after converting? 
72. When to use struts technology? What type of applications are developed using struts frame work? 
73. What is the need of taglibraries? 
74. Explain online banking system using java.that means i need architecture of online banking system.please sir i want full details 
75. Text in textarea cant be copy by anyone while it is running in the browser (i.e,the text cant be copy and then paste on the other page) give me suggestion? 
76. How can i clear values in sessions. if i open a jsp page it is containing previous values. then i need to open a new page then only i am getting a fresh page 
77. What data is stored in the variable appname when we give the folowing statement String appname=("manager".equalsIgnoreCAse(request.getContextPath()))?"/manager":"/portal"; 
78. Web browser concept using jsp 
79. Why we can't implement interface in JSP? Why we can only extend classes in JSP? 
80. How can we implement logoutpage using jsp ..? and Is there any method to force the browser to show the same page again and again after logout..? 
81. How to Upload a textfile from JSP to Servlet 
82. My html form contains an INPUT "text" element that accepts Date, i want to catch that date and want to query it using JSP? In short, how can i use that HTML form element with Prepared Statements in JSP? 
83. Types of indexing used in oracle applications ? and when and how we decide to implement indexing to database ? 
84. What is the need of implicit objects? 
85. When we design some login form how we manage security for those forms?which technology used for that purpose? 
86. How Do you implement interface in JSP? 
87. How can initialize interface in JSP? 
88. How do u maintain a Session? 
89. What is the differences between JSP LifeCycle and Servlet LifeCycle? 
90. Can I call an interface in a JSP? 
91. What is the Difference between sendRedirect() and Forward? 
92. I want to place two buttons one for save and one for delete.i am using DispatchAction as controller,how can i find which button i am pressing and how to diffrentiate? 
93. What is JSP 
94. What is the difference betweeen a statis and dynamic include? 
95. How can my JSP communicate with java class file 
96. I want to accomplish the following scenario: 1) user submits a jpg/gif file from an html form (using in the form, the user can browse to a file of their choice) 2) upload the jpg/gif file through a combination of Java and JSP's 3) put the jpg/gif into a database on a server and/or into a folder on my local system. 
97. How to pop up a jsp page?refreshing every two seconds. 
98. What is difference between scriptlet and expression 
99. What does < %= obj.getXXX() %> the following expression get evaluated to ? 
100. How can we move from one JSP page to another(mean using what tecnique?) 
IBM Top C interview questions 

1. Difference between arrays and pointers? 
2. What is the purpose of realloc( )? 
3. What is static memory allocation and dynamic memory allocation? 
4. How are pointer variables initialized? 
5. Are pointers integers? 
6. What is a pointer variable? 
7. What is a pointer value and address? 
8. What is a method? 
9. What are the advantages of the functions? 
10. What is the purpose of main( ) function? 
11. What is an argument? differentiate between formal arguments and actual arguments? 
12. What is a function and built-in function? 
13. What is modular programming? 
14. When does the compiler not implicitly generate the address of the first element of an array? 
15. What are the characteristics of arrays in C? 
16. Differentiate between a linker and linkage? 
17. What are advantages and disadvantages of external storage class? 
18. Diffenentiate between an internal static and external static variable? 
19. What are the advantages of auto variables? 
20. What is storage class and what are storage variable? 
21. Which expression always return true? Which always return false? 
22. Write the equivalent expression for x%8? 
23. Why n++ executes faster than n+1? 
24. What is a modulus operator? What are the restrictions of a modulus operator? 
25. What is the difference between a string and an array? 
26. Is it better to use a pointer to navigate an array of values,or is it better to use a subscripted array name? 
27. Can the sizeof operator be used to tell the size of an array passed to a function? 
28. Is using exit() the same as using return? 
29. Is it possible to execute code even after the program exits the main() function? 
30. What is a static function? 
31. Why should I prototype a function? 
32. How do you print an address? 
33. Can math operations be performed on a void pointer? 
34. How can you determine the size of an allocated portion of memory? 
35. What is a "null pointer assignment" error? What are bus errors, memory faults, and core dumps? 
36. What is the difference between NULL and NUL? 
37. What is the heap? 
38. Can the size of an array be declared at runtime? 
39. What is the stack? 
40. When should a far pointer be used? 
41. What is the difference between far and near? 
42. Is it better to use malloc() or calloc()? 
43. Why should we assign NULL to the elements (pointer) after freeing them? 
44. When would you use a pointer to a function? 
45. How do you use a pointer to a function? 
46. Can you add pointers together? Why would you? 
47. What does it mean when a pointer is used in an if statement? 
48. Is NULL always defined as 0? 
49. What is a void pointer? 
50. What is a null pointer? 
51. How many levels of pointers can you have? 
52. What is indirection? 
53. How do you print only part of a string? 
54. How can I convert a string to a number? 
55. How can I convert a number to a string? 
56. What is the difference between a string copy (strcpy) and a memory copy (memcpy)? When should each be used? 
57. How can you check to see whether a symbol is defined? 
58. How do you override a defined macro? 
59. What is #line used for? 
60. What is a pragma? 
61. What are the standard predefined macros? 
62. How can type-insensitive macros be created? 
63. How many levels deep can include files be nested? 
64. Can include files be nested? 
65. Can you define which header file to include at compile time? 
66. What is the difference between #include and #include "file"? 
67. Is it better to use a macro or a function? 
68. How are portions of a program disabled in demo versions? 
69. What is the benefit of using an enum rather than a #define constant? 
70. What is the benefit of using #define to declare a constant? 
71. Can a file other than a .h file be included with #include? 
72. How can you avoid including a header more than once? 
73. What will the preprocessor do for a program? 
74. What is a macro, and how do you use it? 
75. What is Preprocessor? 
76. How can I make sure that my program is the only one accessing a file? 
77. How can I open a file so that other programs can update it at the same time? 
78. How do you determine whether to use a stream function or a low-level function? 
79. What is the difference between text and binary modes? 
80. How can you restore a redirected standard stream? 
81. How do you redirect a standard stream? 
82. How can I search for data in a linked list? 
83. How can I sort a linked list? 
84. What is hashing? 
85. What is the quickest searching method to use? 
86. What is the easiest searching method to use? 
87. How can I sort things that are too large to bring into memory? 
88. What is the quickest sorting method to use? 
89. What is the easiest sorting method to use? 
90. What is the benefit of using const for declaring constants? 
91. Can static variables be declared in a header file? 
92. What is the difference between declaring a variable and defining a variable? 
93. Is it acceptable to declare/define a variable in a C header? 
94. When should a type cast not be used? 
95. When should a type cast be used? 
96. How can you determine the maximum value that a numeric variable can hold? 
97. How reliable are floating-point comparisons? 
98. Can a variable be both const and volatile? 
99. When should the volatile modifier be used? 
When should the register modifier be used? Does it really help? 
Technical part is easy we can finish in 20 mins.
Aptitude was tough
out of nearly 100 members, they shorlisted 35
candidates
for interview process.
I appiled thru some ad only i think, i didn't
remember properly
thru how i appiled for this.I am listing some
questions which
i remember. Tech part no need of preparation only,
just like that u can do.
1. In 1930 a man's age is the last 2 digit of the
year intercganged
in which he born and his granpa's age also like
the same.
2.10pow10pow10
if one takes 1 sec to write a single digit then
how long will it
take to write the above _expression.
3. 2 trains coming in opposite directions in 12
km/hr
distance between the trains is 24 km.
an insect starts at the same time when the train
starts at a
speed of 18km/hr. How many km the insect might
have travelled
before it got crashed between the 2 trains.
4. less than 30 of them are there. Among those
1/3rd know french
1/4th knows english, 1/2 knows german, then 1/8 of
them donn't know
any of the languages. Then find out how many are
there totally.
5. what will be the unit digit number od 7 pow 173
6. what is the probability that 2 of them selected
randomly have
got the same month of birth?
7. in c output of one prg. Very easy
8. parity bit for what?
9. if in a graph some nodes are there ....can we
tell it is bipartite.. (question on discrete)
10-14. One comprehension and 5 questions based on
that.
15. some 3 pairs of white socks, 4 pairs of red
socks and
2 pairs of black socks among that what is the
probability that
correct pairs can be taken out?
16. YWCC is what in options they had specified
for compiler...
a big hats off to chetana mam and suri sir for
maintaining such a wonderful group just to serve
people who are in search of job. Really thru this
group we are getting the chance to know the
current openings..
1) I give a jcl code with
Programmer name: smith
Jobname:ABC
Jobclass=c
Message class = a
All messages are to be displaced code it in a JCL.
A) //ABC,smith,class=c,message class=a,message level=(2,1)
B) //ABC,smith,class=c,message class=a,message level =(!,1)
C) //ABC,smith,class=c,message class=a,message level=(0,1)
D) none of these.
2) for a cobol program
Move 5 to work-sd.
A statement which says that the value of work-st is 0.
perform Para1.
……………
Para1.
Add 3 to work-sd
Add 2 to work-st
If work-st <11 go to main-para.
………………
go to para1.
Wat wud b the value of work-sd?
a) 15
b) 18
c) 10
d) none
3) given 2 tables T1 and T2.
T1 T2
A 1
B 2
3
u make a query
SELECT * FROM T1,T2.
Wat is the no: of rows that are fetched frm this query?
a) 4
b) 5
c) 6
d) 9
4) wat is the full form of RACF?
5) who is the data base manager of db2?
a) buffer register
b) runtime suprivisor
c) DBRM
d) None
5)u have a file with DISP=SHR, when u open the file in output mode
a) the records get appended
b) the records gets overwritten
c) the job abbends
d) none of these
6) u open a file with disp= MOD, when u open the file in output mode
(same options as the above question)
7) to exclude some records while sorting which parameter do we use?
a) OMIT
b) EXCLUDE
c) ….d)….
8)when u insert into db2 with cics, it works as
a) foreground
b) a job working in background
c) ..
d) …..
9)u have a dataset TIME.WORK.OCT88, u want to concatenate other datasets
like TIME.WORK.JUL88, TIME.WORK.APR88, TIME.WORK.MAY88. how do u do that?
a)//DDname DD DSN = TIME.WORK.OCT88, DISP = SHR
DD DSN = TIME.WORK.JUL88, DISP = SHR
DD DSN = TIME.WORK.APR88, DISP = SHR
DD DSN = TIME.WORK.MAY88, DISP = SHR
b)//DDname DD DSN = TIME.WORK.JUL88, DISP = SHR
DD DSN = TIME.WORK.OCT88, DISP = SHR
DD DSN = TIME.WORK.APR88, DISP = SHR
DD DSN = TIME.WORK.MAY88, DISP = SHR
c)//DDname DD DSN = TIME.WORK.APR88, DISP = SHR
DD DSN = TIME.WORK.JUL88, DISP = SHR
DD DSN = TIME.WORK.MAY88, DISP = SHR
DD DSN = TIME.WORK.OCT88, DISP = SHR
e) none of these
10) when db2 entries are made while working in cics, the enteries
should be made in
a) TCT
b) PCT
c) DCT
d) RCT
11) find the odd one out
a) KSDS
b) RRDS
c) LDS
d) PDS
12) full form of VTOC
13) question based on SKIP and COUNT parameter
IBM PLACEMENTS JAVA 

Question: Name the containers which uses Border Layout as their default layout?
Answer: Containers which uses Border Layout as their default are: window, Frame and Dialog classes.
Question: What do you understand by Synchronization?
Answer: Synchronization is a process of controlling the access of shared resources by the multiple threads in such a manner that only one thread can access one resource at a time. In non synchronized multithreaded application, it is possible for one thread to modify a shared object while another thread is in the process of using or updating the object's value. Synchronization prevents such type of data corruption.
E.g. Synchronizing a function:
public synchronized void Method1 () {
     // Appropriate method-related code. 
}
E.g. Synchronizing a block of code inside a function:
public myFunction (){
    synchronized (this) { 
            // Synchronized code here.
         }
}
Question: What is Collection API?
Answer: The Collection API is a set of classes and interfaces that support operation on collections of objects. These classes and interfaces are more flexible, more powerful, and more regular than the vectors, arrays, and hashtables if effectively replaces. 
Example of classes: HashSet, HashMap, ArrayList, LinkedList, TreeSet and TreeMap.
Example of interfaces: Collection, Set, List and Map.
Question: Is Iterator a Class or Interface? What is its use?
Answer: Iterator is an interface which is used to step through the elements of a Collection. 
Question: What is similarities/difference between an Abstract class and Interface?
Answer:  Differences are as follows: 
· Interfaces provide a form of multiple inheritance. A class can extend only one other class. 
· Interfaces are limited to public methods and constants with no implementation. Abstract classes can have a partial implementation, protected parts, static methods, etc. 
· A Class may implement several interfaces. But in case of abstract class, a class may extend only one abstract class. 
· Interfaces are slow as it requires extra indirection to to find corresponding method in in the actual class. Abstract classes are fast.  
Similarities: 
· Neither Abstract classes or Interface can be instantiated.
Question: How to define an Abstract class?
Answer: A class containing abstract method is called Abstract class. An Abstract class can't be instantiated. 
Example of Abstract class:
abstract class testAbstractClass { 
    protected String myString; 
    public String getMyString() { 
        return myString; 
        } 
    public abstract string anyAbstractFunction();
}
      
Question: How to define an Interface?
Answer: In Java Interface defines the methods but does not implement them. Interface can include constants. A class that implements the interfaces is bound to implement all the methods defined in Interface.
Emaple of Interface:

public interface sampleInterface {
    public void functionOne();

    public long CONSTANT_ONE = 1000; 
}
    
Question: Explain the user defined Exceptions?
Answer: User defined Exceptions are the separate Exception classes defined by the user for specific purposed. An user defined can created by simply sub-classing it to the Exception class. This allows custom exceptions to be generated (using throw) and caught in the same way as normal exceptions. 
Example:
class myCustomException extends Exception {
     // The class simply has to exist to be an exception 
} 
   
Question: Explain the new Features of JDBC 2.0 Core API?
Answer: The JDBC 2.0 API includes the complete JDBC API, which includes both core and Optional Package API, and provides inductrial-strength database computing capabilities. 
New Features in JDBC 2.0 Core API:
· Scrollable result sets- using new methods in the ResultSet interface allows programmatically move the to particular row or to a position relative to its current position 
· JDBC 2.0 Core API provides the Batch Updates functionality to the java applications. 
· Java applications can now use the ResultSet.updateXXX methods. 
· New data types - interfaces mapping the SQL3 data types 
· Custom  mapping of user-defined types (UTDs) 
· Miscellaneous features, including performance hints, the use of character streams, full precision for java.math.BigDecimal values, additional security, and support for time zones in date, time, and timestamp values.  
     
 

Question: Explain garbage collection?
Answer: Garbage collection is one of the most important feature of Java. Garbage collection is also called automatic memory management as JVM automatically removes the unused variables/objects (value is null) from the memory. User program cann't directly free the object from memory, instead it is the job of the garbage collector to automatically free the objects that are no longer referenced by a program. Every class inherits finalize() method from java.lang.Object, the finalize() method is called by garbage collector when it determines no more references to the object exists. In Java, it is good idea to explicitly assign null into a variable when no more in use. I Java on calling System.gc() and Runtime.gc(), 
JVM tries to recycle the unused objects, but there is no guarantee when all the objects will garbage collected. 
    
Question: How you can force the garbage collection?
Answer: Garbage collection automatic process and can't be forced.  
  
Question: What is OOPS?
Answer: OOP is the common abbreviation for Object-Oriented Programming.  
  
Question: Describe the principles of OOPS.
Answer: There are three main principals of oops which are called Polymorphism, Inheritance and Encapsulation.  
  
Question: Explain the Encapsulation principle.
Answer: Encapsulation is a process of binding or wrapping the data and the codes that operates on the data into a single entity. This keeps the data safe from outside interface and misuse. One way to think about encapsulation is as a protective wrapper that prevents code and data from being arbitrarily accessed by other code defined outside the wrapper.  
  
Question: Explain the Inheritance principle.
Answer: Inheritance is the process by which one object acquires the properties of another object.  
  
Question: Explain the Polymorphism principle.
Answer: The meaning of Polymorphism is something like one name many forms. Polymorphism enables one entity to be used as as general category for different types of actions. The specific action is determined by the exact nature of the situation. The concept of polymorphism can be explained as "one interface, multiple methods".  
  
Question: Explain the different forms of Polymorphism.
Answer: From a practical programming viewpoint, polymorphism exists in three distinct forms in Java: 
· Method overloading 
· Method overriding through inheritance 
· Method overriding through the Java interface 
   
 

Question: What are Access Specifiers available in Java?
Answer: Access specifiers are keywords that determines the type of access to the member of a class. These are: 
· Public 
· Protected 
· Private 
· Defaults 
   
 

Question: Describe the wrapper classes in Java.
Answer: Wrapper class is wrapper around a primitive data type. An instance of a wrapper class contains, or wraps, a primitive value of the corresponding type.
Following table lists the primitive types and the corresponding wrapper classes:
	Primitive
	Wrapper

	boolean
	  java.lang.Boolean

	byte
	  java.lang.Byte

	char
	  java.lang.Character

	double
	  java.lang.Double

	float
	  java.lang.Float

	int
	  java.lang.Integer

	long
	  java.lang.Long

	short
	  java.lang.Short

	void
	  java.lang.Void


   
 

Question: Read the following program:
public class test {
public static void main(String [] args) {
    int x = 3;
    int y = 1;
   if (x = y)
     System.out.println("Not equal");
  else
    System.out.println("Equal");
 }
}

What is the result?
   A. The output is "Equal"
   B. The output in "Not Equal"
   C. An error at " if (x = y)" causes compilation to fall.
   D. The program executes but no output is show on console.
Answer: C

Question: what is the class variables ?
Answer: When we create a number of objects of the same class, then each object will share a common copy of variables. That means that there is only one copy per class, no matter how many objects are created from it. Class variables or static variables are declared with the static keyword in a class, but mind it that it should be declared outside outside a class. These variables are stored in static memory. Class variables are mostly used for constants, variable that never change its initial value. Static variables are always called by the class name. This variable is created when the program starts i.e. it is created before the instance is created of class by using new operator and gets destroyed when the programs stops. The scope of the class variable is same a instance variable. The class variable can be defined anywhere at class level with the keyword static. It initial value is same as instance variable. When the class variable is defined as int then it's initial value is by default zero, when declared boolean its default value is false and null for object references. Class variables are associated with the class, rather than with any object.  

Question: What is the difference between the instanceof and getclass, these two are same or not ?
Answer: instanceof is a operator, not a function while getClass is a method of java.lang.Object class. Consider a condition where we use 
if(o.getClass().getName().equals("java.lang.Math")){ }
This method only checks if the classname we have passed is equal to java.lang.Math. The class java.lang.Math is loaded by the bootstrap ClassLoader. This class is an abstract class.This class loader is responsible for loading classes. Every Class object contains a reference to the ClassLoader that defines. getClass() method returns the runtime class of an object. It fetches the java instance of the given fully qualified type name. The code we have written is not necessary, because we should not compare getClass.getName(). The reason behind it is that if the two different class loaders load the same class but for the JVM, it will consider both classes as different classes so, we can't compare their names. It can only gives the implementing class but can't compare a interface, but instanceof operator can. 
The instanceof operator compares an object to a specified type. We can use it to test if an object is an instance of a class, an instance of a subclass, or an instance of a class that implements a particular interface. We should try to use instanceof operator in place of getClass() method. Remember instanceof opeator and getClass are not same. Try this example, it will help you to better understand the difference between the two. 
Interface one{
}

Class Two implements one {
}
Class Three implements one {
}

public class Test {
public static void main(String args[]) {
one test1 = new Two();
one test2 = new Three();
System.out.println(test1 instanceof one); //true
System.out.println(test2 instanceof one); //true
System.out.println(Test.getClass().equals(test2.getClass())); //false
}
} 


Combinations
Posted: Tue, 27 Nov 2007 08:20:24 -0600
Question:Computing the exact number of ways that N things can be taken M at a time can be a great challenge when N and/or M become very large.So given 5<=N<=100 5<=M<=100 and M<=N.Compute the EXACT value of: N!/(M!*(N-M)!) The final value of C will fit in a 32-bit Pascal LongInt or a C long. So deduce an approach based on this assumption given.

Solution:At a mere glance,this problem may seem to have a direct solution,though it isn't upon a long thought.The naive approach to calculate combination of N things taken M at a time is obtained by mere application of formula,which mean finding N! ,M! and (N-M)! and the putting them in the expression.But as N and M are independently large enough for overflows to occur in N! and M! calculations.
One of the approaches to solve this problem,based on prime factorization can be formulated in the following manner.

Consider a prime P whose exponents in N!,M! and (N-M)! are p1,p2 and p3 respectively.

therefore the exponent of P in N!/M!*(N-M)! is p1+p2-p3.

This way we can store the exponents of all primes <= the largest prime which divides N.

One this is done ,we can merely multiply all these primes each raised to its exponent to get the required answer.


Now getting on to the tricky part of finding the exponent of a prime P in N!

In general ,if P is any prime,then the no of P's in N! is given by
Sum (floor(n/P^i)) for P^i <= N This apparently weird formula can be explained with ease!! consider the numbers 1,2,3,.........,,N.Every Pth number is divisible by P.So all those multiples of P put together contribute floor(N/P) to the power of P. Similarly every P^2th number is divisible by P^2.And each of them have already contributed 1 to power of P in previous iteration,as each of them are divisible by P.So each of them contribute an additional 1, which means they all together contribute floor(N/P^2) to the already sum. These terms of contribution go on till we have P^i <= N,hence the summation Sum (floor(N/P^i)) for P^i <= N The Cpp implementation of above task is given below 

#include<iostream>
using namespace std;
#include<cmath>
#include<cstdlib>
#include<cstdio>
#include<vector>
typedef vector<int> powers;
void insert(vector<powers> &P,int i,vector<int> V,int size)
{
vector<int> temp=P[i-1];
//calculation of exponent of each prime
for(int j=0;j <size && i!=1;j++)
{
while(i%V[j]==0)
{
temp[j]++;
i/=V[j];
}
}
P.push_back(temp);
}
int main()
{
vector<int> V;
vector<powers> P;
V.push_back(2);
bool flag;
int N,R;
for(int i=3;i<100;i+=2)
{
flag=true;
for(int j=0;V[j]*V[j] <=i;j++)
{
if(i%V[j]==0)
{
flag=false;
break;
}
}
if(flag)
{
V.push_back(i);
}
}
int size=V.size();
vector<int> temp(size,0);
P.push_back(temp);
P.push_back(temp);
for(int i=2;i<=100;i++)
{
insert(P,i,V,size);
}
while(cin >> N >>R)
{
if(N==0 && R==0)
{
return(0);
}
else
{
long sol=1;
for(int i=0;i<size;i++)
{
sol*=(long)pow((double)V[i],P[N][i]-P[R][i]
-P[N-R][i]); //Pi^(p1-p2-p3)
}
cout<<N<<" things taken 
"<<R<<" at a time is 
"<<sol<<" exactly."<<'\n';

}

}
return(0);
}
Solutions to Logical Puzzles-2
1)3 
It is of the form 0^2+2,1^2+2,3^2+2,6^2+2,10^2+2,.....
The sequence of n is 0,1,3,6,10,... so the next n is 15 => 15^2+2

2)2
The function is S(n)=S(n-1)*(n+2) + 3 ,n>1
=6 ,n=1
3)1
It is of the form S(n)*3+2 for even and S(n)*2-3 for odd where S(n) is the nth element.
So 7th element = 239*2-3=475
4)2
The function is S(n)=(n+2)^3 -2
5)1
The numbers in the sequence is a combination of n^2 and n^3 and n is odd.
6)2
The function is S(n)=S(n-1)*n-n n>1
=3 n=1
7)
8)1
The function is S(n)=(S(n-1)-1)*(n-1) n>1
=8 n=1
9)
10) 
· Number of ways to express a number as summation of consecutive numbers
Posted: Tue, 27 Nov 2007 09:54:40 -0600
Question.All the positive numbers can be expressed as a sum of one, two or more consecutive positive integers. For example 9 can be expressed in three such ways, 2+3+4, 4+5 or 9. Given an integer ,you will have to determine in how many ways that number can be expressed as summation of consecutive numbers.

Solution:
2+3+4=(1+2+3+4)-(1)
=(1+2+3+4+5)-(1+2+3)
=(1+2+3+4+5+6+7+8+9)-(1+2+3+4+5+6+7+8)

This shows that the no of solutions to this problem is the no of tuples (n,m) such that
given number K can be expressed as K=(1+2+..........+n)-(1+2+3+...........+m) 
and n > m

i.e K=n*(n+1)/2 -m*(m+1)/2
=(n-m)(n+m+1)/2
2*k=(n-m)*(n+m+1)
If we put the factor n-m=p and (n+m+1)=q,we get S=2*k=p*q
As p+q=2*n+1 is odd and S is even either n-m is odd otherwise n+m+1 is odd.
This leaves out with finding out the no of odd divisors of S,which can be easily done using prime factorization.
if S=(2^p)*(3^q)*(5^r)*(7^s)......

then the solution is (q+1)*(r+1)*(s+1)*.. i.e the no
Basic Questions

* What is a friend, and why do you need it?
* If this doesn't compile, why didn't it (or will it compile?) Don't show comments, which explain the problem.

template void HashTable <>::dummy()
{
K* k = NULL;
Hashable* h = k; // If this fails to compile, it's because
// K is not derived from Hashable.
}

* This will loop forever. Why? Will it really loop forever? (Answer: Base:func() does not call Base::func(). Base: is just a label, so the line always will call Derived::func() until it runs out of stack space)

class Base {
public:
Base() {}
virtual void func() { /* do something */ }
};

 


class Derived : public Base {
public:
Derived() {}
virtual void func()
{
Base:func();
/* do something else */
}
};

main()
{
Derived d;
d.func(); // Never returns!
}


More advanced questions:

* What is a vtbl ?
* What is RTTI and why do you need it?
* How do I specialize a template? Give an example.

To separate sheep from goats (for those claiming C++ Guru status):

* What is a partial template? Why would you use one?
* How to I create a binary functor in the STL?

Given the following code:

class A;
class B;

class C {
A* a_;
B* b_;

public:
};

Implement a copy constructor and assignment operator for C. A sample solution is something like:

class C {
A* a_;
B* b_;

void swap(C& rhs) { rhs.a_ = a_; rhs.b_ = b_; }

public:

C(const C& rhs) {
auto_ptr<> a(new A(rhs.a_));
auto_ptr<> b(new B(rhs.b_)):

delete a_;
delete b_;

a_ = a.release();
b_ = b.release();
}

C& operator=(const C& rhs) {
C temp(rhs);
temp.swap(*this);
return *this;
}
};


What is wrong with this class, assuming that this is its complete interface?


class C {
char *p;
public:
C() { p = new char[64]; strcpy(p, "Hello world"); }
~C() { delete p; }

void foo() { cout << "My ptr is: '" << p << "'" << endl; }
};

Since this has an overtly programmed destructor, the member wise semantics for destruction are not good enough; therefore, they are not good enough for copy and assignment either. But, the copy ctor and op= are not programmed, so we will have some serious trouble.

Gradual hinting: what happens when we make a copy? [correct answer: pointer is copied]. Now, the original goes out of scope, what happens to the copy? [pointer dangles]. How would you fix it?

[also, that delete p should be delete[ p since p was allocated with the array new]

Assuming that swap() and copy construction are part of your interface for class C, what's the cookie-cutter pattern for operator= that uses them?

answer:

C& C::operator=(const C &rhs) {
if (this != &rhs) {
C tmp(rhs);
this->swap(tmp);
}
return *this;
}
Solutions to Logical Puzzles-3
2)3,
The number obtained by dividing 48 with 4 is 12 which is even while all the others get odd number for the same.
3)4,
The sequence has to be AON,EWR,IEV,MMZ

4)2
The remaining 3 are input devices.

5)2
The remaining 3 represent an image.

6)3
Trousers can only take a plural form while others can also take a singular form.

7)

8)

9)4
All the other three lie inside a cell. 

10)

11)4

12)3

13)1

14)2

15)3

16)3

17)1

18)3

19)3

20)4 
· Solutions to Logical Puzzles-1
We need 3 cuts to cut a cube into 6 equal pieces,with one cut in each dimension.Maximum identical pieces obtained with n cuts[if n is a factor of 3] = (n/3 + 1)^3, with n/3 cuts, we form n/3 + 1 equal pieces.If we need to get maximum number of identical cubes with some number of cuts then the number of cuts in all the dimensions should be equal if possible or almost equal. 
The number of identical pieces formed with l,n,m cuts in the 3 demensions are (l+1)*(n+1)*(m+1).

1)3,Here there are 6,7,8 cuts in each dimension

2)2

3)4,Here the number of cuts are 7,7,6 in the 3 dimensions.

4)1

5)3

All the problems from 6-18 are based mostly on imagination.Note that 27 identical pieces have no color at all i.e they are inner pieces.

6)3

7)4

8)1

9)3

10)2

11)2

12)4

13)1

14)4

15)3

16)1

17)4

18)1

19)2

20)4 
· Solutions to Basic C Interview Questions
1)To check for it, create two pointers,and set each to the start of the list. Update each as follows:

while (pointer1) {
pointer1 = pointer1->next;
pointer2 = pointer2->next;
if (pointer2) pointer2=pointer2->next;
if (pointer1 == pointer2) {
print ("circular linked list\n");
}
}

2)Union x : 1101791232 21.500000
Union y : 100 d 0.000000

3)It is an object of some class whose purpose is to indicate that a real object of that class does not exist. One common use for a null object is a return value from a member function that is supposed to return an object with some specified properties but cannot find such an object.

4) Java,Smalltalk,Eiffel,Sather.

5)A container class is a class that is used to hold objects in memory or
external storage. A container class acts as a generic holder. A
container class has a predefined behavior and a well-known interface. A
container class is a supporting class whose purpose is to hide the
topology used for maintaining the list of objects in memory. When a
container class contains a group of mixed objects, the container is
called a heterogeneous container; when the container is holding a group
of objects that are all the same, the container is called a homogeneous
container.

6)fffffff0

7)C was the C++ predecessor. As it's name implies, a lot of C remains in C++. Although not actually being more powerful than C, C++ allows the programmer to more easily manage and operate with Objects, using an OOP (Object Oriented Programming) concept.

C++ allows the programmer to create classes, which are somewhat similar to C structures. However, to a class can be assigned methods, functions associated to it, of various prototypes, which can access and operate within the class, somewhat like C functions often operate on a supplied handler pointer.

Although it is possible to implement anything which C++ could implement in C, C++ aids to standarize a way in which objects are created and managed, whereas the C programmer who implements the same system has a lot of liberty on how to actually implement the internals, and style among programmers will vary a lot on the design choices made.

In C, some will prefer the handler-type, where a main function initializes a handler, and that handler can be supplied to other functions of the library as an object to operate on/through. Others will even want to have that handler link all the related function pointers within it which then must be called using a convention closer to C++.

To finish this discussion, C++ applications are generally slower at runtime, and are much slower to compile than C programs. The low-level infrastructure for C++ binary execution is also larger. For these reasons C is always commonly used even if C++ has alot of popularity, and will probably continue to be used in projects where size and speed are primary concerns, and portable code still required (assembly would be unsuitable then).

8)Incomplete types
refers to pointers in which there is non availability of the
implementation of the referenced location or it points to some location
whose value is not available for modification.

int *i=0x400 // i points to address 400
*i=0; //set the value of memory location pointed by i.

9)Printf : Call by value
Scanf : Call by reference

10)a const pointer means the pointer which represents the address of one value. so if you declare a pointer inside the function, it doesn't have scope outside the function. if it is also available to the outside function whenever we declare a pointer as const.

11)Type casting must be done wheneever the data type of the variable to which u r gonna assign some values is diff from the data type of the variable on the right side.

for instance;

float f;
int i = 10 , j = 5 ;

f = (float) ( i / j ) ;

f -------> left side variable.
i -------> right side variable.

but always make sure that the size of the var on the left is greater than that of the right. else there will be data loss.

A type cast should not be used to override a const or volatile declaration. Overriding these type modifiers can cause the program to fail to run correctly.
A type cast should not be used to turn a pointer to one type of structure or data type into another. In the
rare events in which this action is beneficial, using a union to hold the values makes the programmer.s
intentions clearer.

12)he answer is the standard library function qsort(). It.s the easiest sort by far for several reasons:
It is already written.
It is already debugged.
It has been optimized as much as possible (usually).
Void qsort(void *buf, size_t num, size_t size, int (*comp)(const void *ele1, const void *ele2));

13)The answer depends on what you mean by quickest. For most sorting problems, it just doesn't matter how quick the sort is because it is done infrequently or other operations take significantly more time anyway. Even in cases in which sorting speed is of the essence, there is no one answer. It depends on not only the size and nature of the data, but also the likely order. No algorithm is best in all cases.
There are three sorting methods in this author.s .toolbox. that are all very fast and that are useful in different situations. Those methods are quick sort, merge sort, and radix sort.

The Quick Sort
The quick sort algorithm is of the .divide and conquer. type. That means it works by reducing a sorting
problem into several easier sorting problems and solving each of them. A .dividing. value is chosen from the input data, and the data is partitioned into three sets: elements that belong before the dividing value, the value itself, and elements that come after the dividing value. The partitioning is performed by exchanging elements that are in the first set but belong in the third with elements that are in the third set but belong in the first Elements that are equal to the dividing element can be put in any of the three sets.the algorithm will still work properly.

The Merge Sort
The merge sort is a .divide and conquer. sort as well. It works by considering the data to be sorted as a
sequence of already-sorted lists (in the worst case, each list is one element long). Adjacent sorted lists are merged into larger sorted lists until there is a single sorted list containing all the elements. The merge sort is good at sorting lists and other data structures that are not in arrays, and it can be used to sort things that don.t fit into memory. It also can be implemented as a stable sort.

The Radix Sort
The radix sort takes a list of integers and puts each element on a smaller list, depending on the value of its least significant byte. Then the small lists are concatenated, and the process is repeated for each more significant byte until the list is sorted. The radix sort is simpler to implement on fixed-length data such as ints.

14)Both the merge sort and the radix sort are good sorting algorithms to use for linked lists.

15)The preprocessor is used to modify your program according to the preprocessor directives in your source code. Preprocessor directives (such as #define) give the preprocessor specific instructions on how to modify your source code. The preprocessor reads in all of your include files and the source code you are compiling and creates a preprocessed version of your source code. This preprocessed version has all of its macros and constant symbols replaced by their corresponding code and value assignments. If your source code contains any conditional preprocessor directives (such as #if), the preprocessor evaluates the condition and modifies your source code accordingly.
The C preprocessor is used to modify your program according to the preprocessor directives in your source code. A preprocessor directive is a statement (such as #define) that gives the preprocessor specific instructions on how to modify your source code. The preprocessor is invoked as the first part of your compiler program.s compilation step. It is usually hidden from the programmer because it is run automatically by the compiler.

16)The standard C library provides several functions for converting strings to numbers of all formats (integers, longs, floats, and so on) and vice versa.

The following functions can be used to convert strings to numbers:
Function Name Purpose
atof() Converts a string to a double-precision floating-point value.
atoi() Converts a string to an integer.
atol() Converts a string to a long integer.
strtod() Converts a string to a double-precision floating-point value and reports any .leftover. numbers that could not be converted.
strtol() Converts a string to a long integer and reports any .leftover. numbers that could not be converted.
strtoul() Converts a string to an unsigned long integer and reports any .leftover. numbers that could not be converted. 

17)
The standard C library provides several functions for converting numbers of all formats (integers, longs, floats, and so on) to strings and vice versa

The following functions can be used to convert integers to strings:
Function Name Purpose
itoa() Converts an integer value to a string.
ltoa() Converts a long integer value to a string.
ultoa() Converts an unsigned long integer value to a string.

The following functions can be used to convert floating-point values to strings:
Function Name Purpose
ecvt() Converts a double-precision floating-point value to a string without an embedded decimal point.
fcvt() Same as ecvt(), but forces the precision to a specified number of digits.
gcvt() Converts a double-precision floating-point value to a string with an embedded decimal point.

18)The heap is where malloc(), calloc(), and realloc() get memory.
Getting memory from the heap is much slower than getting it from the stack. On the other hand, the heap
is much more flexible than the stack. Memory can be allocated at any time and deallocated in any order. Such
memory isn't deallocated automatically; you have to call free().
Recursive data structures are almost always implemented with memory from the heap. Strings often come
from there too, especially strings that could be very long at runtime. If you can keep data in a local variable (and allocate it from the stack), your code will run faster than if you put the data on the heap. Sometimes you can use a better algorithm if you use the heap.faster, or more robust, or more flexible. It's a tradeoff.
If memory is allocated from the heap, it.s available until the program ends. That's great if you remember to deallocate it when you.re done. 

19)n++ takes more than one instruction, ++n is faster. n++ has to store n, increment the variable and return n, while ++n increment n and return without storing the previous value of n.

20) If a program is large, it is subdivided into a number of smaller programs that are called modules or subprograms. If a complex problem is solved using more modules, this approach is known as modular programming. 

21)expression if (a=0) always return false
expression if (a=1) always return true

22)Malloc is dynamic memory allocation,it allocates the memory and initialize garbage value.Calloc is similar to malloc but only difference is initialize zero

23)A middle level language

24)Overloading is polymorphism which is one of the characteristics of Object oriented programming. C is not and object oriented language like C++ or Java. Therefore, no overloading, inheritance, etc.

25)Static int variable are accessed only inside the file where it is defined. Thus we can have same variable name in 2 files if the variable is defined as static. The scope of the variable is limited to the file in which it is defined.

On the other hand if the variable is not defined as static and defined globally then it can be accessed across the files. To access the variable which is global variable and declared and defined in file A, keyword "extern" is used in front of the variable in file B. This indicated to compiler while compiling that the variable is defined in some other file other than B and continues compiling and while linking the variable it search for the actual definition and links. 
C program to delete a tree
Write a C program to delete a tree(i.e, free up its nodes)
#include<stdio.h>
struct binarysearchtree
{
int data;
struct binarysearchtree* left;
struct binarysearchtree* right;
};
typedef struct binarysearchtree* tree;

void tree_free(tree T)
{
if (T==NULL)
return;
else
{
tree_free(T->left);
tree_free(T->right);
free(T);
}
}
Question:Write a C program to determine the number of elements(or size) in a binary tree?
Solution:

#include<stdio.h>
struct binarysearchtree
{
int data;
struct binarysearchtree* left;
struct binarysearchtree* right;
};
typedef struct binarysearchtree* tree;


int tree_size(tree T)
{
if(T==NULL)
return 0;
else
{
return 1+tree_size(T->left)+tree_size(T->right);
}
}

 

chtree
{
int data;
struct binarysearchtree* left;
struct binarysearchtree* right;
};
typedef struct binarysearchtree* tree;

int max(int a,int b)
{
if(a >=b)
return a;
else
return b;
}

int height(tree T)
{
if(T==NULL)
return 0;
else
{
int h1=height(T->left);
int h2=height(T->right);
return 1+max(h1,h2);
}
}
Hi Friends,
One of my friend who is working for amazon gave me a good collection of questions which helped him to get into Amazon. I am sharing these questions to help you guys.

 

· What are the major differences between C and C++?
· What are the differences between new and malloc?
· What is the difference between delete and delete[?
· What are the differences between a struct in C and in C++?
· What are the advantages/disadvantages of using #define?
· What are the advantages/disadvantages of using inline and const?
· What is the difference between a pointer and a reference?
· When would you use a pointer? A reference?
· What does it mean to take the address of a reference?
· What does it mean to declare a function or variable as static?
· What is the order of initialization for data?
· What is name mangling/name decoration?
· What kind of problems does name mangling cause?
· How do you work around them?
· What is a class?
· What are the differences between a struct and a class in C++?
· What is the difference between public, private, protected, and friend access?
· For class CFoo { }; what default methods will the compiler generate for you>?
· How can you force the compiler to not generate them?
· What is the purpose of a constructor? Destructor?
· What is a constructor initializer list?
· When must you use a constructor initializer list?
· What is a:
* Constructor?
* Destructor?
* Default constructor?
* Copy constructor?
* Conversion constructor?
· What does it mean to declare a...

* member function as virtual?
* member function as static?
* member variable as static?
* destructor as static?
· Can you explain the term "resource acquisition is initialization?"
· What is a "pure virtual" member function?
· What is the difference between public, private, and protected inheritance?
· What is virtual inheritance?
· What is placement new?
· What is the difference between operator new and the new operator?
· What is exception handling?
· Explain what happens when an exception is thrown in C++.
· What happens if an exception is not caught?
· What happens if an exception is throws from an object's constructor?
· What happens if an exception is throws from an object's destructor?
· What are the costs and benefits of using exceptions?
· When would you choose to return an error code rather than throw an exception?
· What is a template?
· What is partial specialization or template specialization?
· How can you force instantiation of a template?
· What is an iterator?
· What is an algorithm (in terms of the STL/C++ standard library)?
· What is std::auto_ptr?
· What is wrong with this statement?
std::auto_ptr ptr(new char[10]);
· It is possible to build a C++ compiler on top of a C compiler. How would you do this?
1)Place a red ball in a urn and all the further balls in the other urn.The probability for picking out the red ball is now greater than 0.5.
2)If v<=2V then the position is (v*L)/(2*V) from the starting point else it is 2*L -(v*L)/(2*V) from the starting point.
4)If we know the process then we can kill it by killall -9 "process name" else we can kill it using its process id obtained by the command ps -x by kill -9 "processid" .
5)Top command displays all the Linux tasks running at that particular time.It provides their running time and the resources used.
6)The number appearing 2 times is (sum of all the numbers in the array) - (sum of the numbers from 1 to n).
For floating numbers multiply it with 100 and proceed. 
· C program to create mirror copy of a tree
Posted: Thu, 29 Nov 2007 23:10:59 -0600
Question:Write a C program to create a mirror copy of a tree left nodes become right and right nodes become left)
Solution:
#include<stdio.h>
struct binarysearchtree{
int data;
struct binarysearchtree* left;
struct binarysearchtree* right;
};
typedef struct binarysearchtree* tree;

tree mirror_copy(tree T)
{
if(T==NULL)
return T;
else
{
tree temp1=mirror_copy(T->left);
tree temp2=mirror_copy(T->right);
T->left=temp2;
T->right=temp1;
return T;
}
}
· Solutions to Questions on recursion
Posted: Tue, 04 Dec 2007 04:28:58 -0600
1)
int Fibinocci(int n)
{
if(n==1)
return 1;
else
n+Fibinocci(n-1);
}

2)
void reverse(char*str)
{
if(*str != '\0')
reverse(str+1);
}

3)
int Factorial(int n)
{
if(n==1)
return 1;
else
return(n*Factorial(n-1);
}

4)
void MoveTower(int disk, int source, int dest, int spare):
{
if(disk == 1)
printf("Move top disc from %d to %d\n",source,desc);
else
{
MoveTower(disk - 1, source, spare, dest); 
printf("Move top disc from %d to %d\n",source,desc); 
// Step 2
MoveTower(disk - 1, spare, dest, source);
}
}

5)
int gcd(int a,int b)
{
if(b==0)
return(a);
else
return(gcd(b,a(mod)b);
}

6)
arr is an array containing N integers.You can also change the program by keeping characters.k is initially 0.

void permutation(int *arr, int N, int k)
{
static level = -1;
level = level+1;
arr[k] = level;

if (level == N)
{
if(arr!=0)
for(int i=0; i < N;i++)
printf("%d",arr[i]); 
}
else
for (int i = 0; i < N; i++)
if (arr[i] == 0)
permutation(arr, N, i);
level = level-1;
arr[k] = 0;
} 

7)void combinations(char*str,int no)
{
int temp1=0;
int i,count,n=1,num,len;


for(i=0;*(str+i)!='\0';i++);
len=i;


for(i=0;i < len;i++)
n=2*n;
temp=(int*)malloc(len*sizeof(int));
for(i=0;i < len;i++)
*(temp+i)=0;
for(num=0;num <= n;num=num+1)
{
temp1=num;
for(i=0;i < len;i++)
{
*(temp+i) = temp1%2;
temp1=temp1/2;
}
count=0;
for(i=0;i < len;i++)
{
if(*(temp+i)==1)
count++;
}
if(count==no)
{ 
for(i=0;i < len;i++)
{
if(*(temp+i)==1)
printf("%c",*(str+i));
}
printf("\n");




}
}

8)
Mergesort:a is an array of n intergers,temp is just a temporary array.low is initially 0 and high is n-1.


void mergesort(int *a,int *temp,int low,int hi)
{
int mid;
if(hi==low)
{
return;
}
else
{
mid=(low+hi)/2;
mergesort(a,temp,low,mid);
printf("1\n");
mergesort(a,temp,mid+1,hi);
printf("2\n");
merge(a,temp,low,mid+1,hi);
}
}

void merge(int a[],int temp[],int left,int rig,int r)
{
printf("%d %d %d\n",left,rig,r);
int i,l,n,k;
l=rig-1;
k=left;
n=r-left+1;
while(left<=l&&rig<=r) 
{
if(a[left]<=a[rig])
temp[k++]=a[left++];
else
temp[k++]=a[rig++];
}
while(left<=l)
temp[k++]=a[left++];
while(rig<=r) 
temp[k++]=a[rig++]; 
for(i=0;i < n;i++,r--) 
a[r]=temp[r];
}




 HYPERLINK "http://placementsindia.blogspot.com/2007/10/sorting-quick-sort.html" 
Quicksort:a is an array of n integers.left is initially 0 and right is n-1.


void quick(int *a, int left, int right)
{
int temp,i,k;
temp=left;
if (left>=right)
{ 
return;
}


k=(left+right)/2;
swap(a,left,k);
for (i=left+1;i<=right;i++)
{
if (a[i] < a[left])
{
swap(a,++temp,i);
}
}

swap(a,left,temp); //swap a[left] and a[temp]
quick(a,left,temp-1);
quick(a,temp+1,right);
}

Minimum Value of a Binary Search Tree

Posted: Thu, 29 Nov 2007 10:10:14 -0600

Question:Write a C program to find the minimum value in a binary search tree.

Solution:

#include<stdio.h>
struct binarysearchtree
{
int data;
struct binarysearchtree* left;
struct binarysearchtree* right;
};
typedef struct binarysearchtree* tree;

tree min(tree T)
{
if (T==NULL)
return NULL;
else
{
if(T->left==NULL)
return T;
else
return min(T->left);
}
}


24.Given two binary trees, write a compare function to check if they are equal or not. Being equal means that they have the same value and same structure.
Solution:The following is a function to check if the two trees are similar or not.It returns true if they are similar else false.
int compareTree(struct node* a, struct node* b) {
if (a==NULL && b==NULL) 
return(true);
else if (a!=NULL && b!=NULL) {
return(
a->data == b->data &&
compareTree(a->left, b->left) &&
compareTree(a->right, b->right)
);
}
else return(false);
} 
25.Implement put/get methods of a fixed size cache with LRU replacement algorithm.
Solution:Each cache unit consists of an id,data and its age.In the Least recently used algorithm if the cache is full and we need to put some data, we replace it an the unit whose age is the least.
Getting some data is just a search for the data thereby incrementing it age and resorting the cache units.

get(id)
{
z=search(id);
data=cache[z].data;
cache[z].age++;
sort(cache);
return(x);
}

put(id,x)
{
if(top==cachesize) //if cache is full
top--
cache[top].id=id; 
cache[top].data=x;
cache[top].age=0;
top++;
}


26 You are given with three sorted arrays ( in ascending order), you are required to find a triplet ( one element from each array) such that distance is minimum.

Distance is defined like this :

If a[i], b[j] and c[k] are three elements then

distance=max(abs(a[i]-b[j]),abs(a[i]-c[k]),abs(b[j]-c[k]))"

Please give a solution in O(n) time complexity

Solution:Point to the first elements of the three arrays, namely a[0],b[0],c[0].
Find the smallest and second smallest of the three.Let us say that a[0] is the smallest and b[0] is the second smallest. Increment the pointer of a until you find a[i]>b[0]. Calculate the difference between a[i-1] and c[0] and store it as current min. Now,again find the smallest and second smallest between a[i], b[0], and c[0] and repeat the above process. If the new difference is smaller than current min,update the value of current min.
Repeat the above process until one of the arrays are finished.
27.Classic - Egg Problem

You are given 2 eggs.You have access to a 100-storey building.

Eggs can be very hard or very fragile means it may break if dropped from the first floor or may not even break if dropped from 100 th floor.Both eggs are identical.You need to figure out the highest floor of a 100-storey building an egg can be dropped without breaking.

Now the question is how many drops you need to make. You are allowed to break 2 eggs in the process.

Solution:Let d be the number of drops required.
Now we need to find an optimal solution no matter at which floor the egg breaks.
So we find d such that it doesn't depend on the floor number.

Let us break the egg at floor d. If the egg breaks then we have atmax d-1 floors to test for the highest floor,thus making it d breaks in total.
If the egg doesn't break at floor d,then proceed to floor 2d-1,where we make the 2nd attempt.If it breaks here we have d-2 breaks in the worst case to find the highest floor.
We proceed in this fashion,till we reach the 100th floor.

Thus we break at d,2*d-1,3*d-2,....

thus d+(d-1)+(d-2)+.... 1 <=100
=>d=14
Thus we need atmax of 14 attempts for any case.
Solutions to the remaining puzzles will be posted soon. If we have a solution then please comment it. 
· How do you reverse a singly linked list? How do you reverse a doubly linked list? Write a C program to do the same.
· Given only a pointer to a node to be deleted in a singly linked list, how do you delete it?
· How do you sort a linked list? Write a C program to sort a linked list.
· How to declare a structure of a linked list?
· Write a C program to implement a Generic Linked List.
· How do you reverse a linked list without using any C pointers?
· How would you detect a loop in a linked list? Write a C program to detect a loop in a linked list.
· How do you find the middle of a linked list? Write a C program to return the middle of a linked list.
· If you are using C language to implement the heterogeneous linked list, what pointer type will you use?
· How to compare two linked lists? Write a C program to compare two linked lists. 
· How to create a copy of a linked list? Write a C program to create a copy of a linked list.
· Write a C program to free the nodes of a linked list.
· Can we do a Binary search on a linked list?
· Write a C program to return the nth node from the end of a linked list.
· How would you find out if one of the pointers in a linked list is corrupted or not?
· Write a C program to insert nodes into a linked list in a sorted fashion.
· Write a C program to remove duplicates from a sorted linked list.
· How to read a singly linked list backwards?
· How can I search for data in a linked list?
Traversals of a Binary Tree
Posted: Mon, 03 Dec 2007 08:28:55 -0600
Write C code to implement the preorder(), inorder() and postorder() traversals. Whats their time complexities?

#include<stdio.h>
struct binarysearchtree{
int data;
struct binarysearchtree* left;
struct binarysearchtree* right;
};
typedef struct binarysearchtree* tree;

void inorder_print(tree T)
{
if (T!=NULL)
{
printf("%d\n",T->data);
inorder_print(T->left);
inorder_print(T->right);
}
}

void postorder_print(tree T)
{
if (T==NULL)
{
return;
}
postorder_print(T->left);
postorder_print(T->right);
printf("%d\n",T->data);
}

void preorder_print(tree T)
{
if (T==NULL)
{
return;
}
printf("%d\n",T->data);
preorder_print(T->left);
preorder_print(T->right);

}

Each of them traverse all the nodes.
So the complexity is O(N).
16.Suppose you have given N companies, and we want to eventually merge them into one big company. How many ways are theres to merge?
Solution:Different solutions exist for this problem,depending on how once perceives the question.
If all the companies are assumed to be unique things,then the solution goes like this.Initially we need to merge 2 companies.These 2 can be chosen in Nc2 ways.Now in the second iteration we can merge 2 companies among the remaining N-1 in N-1c2.
We go on merging like this until we have a single union of all the companies.
Hence the number of ways of doing this is (Nc2)*(N-1c2)*(N-2c2)*........*(2c2)=(N!*(N-1)!)/2^(N-1) .
One more way of looking at this problem is the structural aspect of merging.In the above solution suppose there are 4 companies say,to be merged.
We could have merged companies 1&2 in the first iteration and 3&4 in the 2nd iteration.Likewise we could have also merged 3&4 in the first iteration and then 1&2 in the 2nd iteration.After these 2 merges,both of them are identical,though we put them as different ways in solution1,depending on which 2 were merged before the other 2.If we were interested only in the structural aspects,then the above solution doesn't even consider that.
If we are interested in the number of structurally different ways to merge these, then we can confront this problem on the assumption that all the given companies are identical .Then this problem reduces to parenthesis problem,i.e number of ways of putting N pairs of parenthesis.The answer then would be N-1 th Catalan Number,
i.e (2N-2)!/N!(N-1)!.
If the companies aren't identical ,with some permutations also getting into the picture, then the solution isn't straightforward and we couldn't figure it out.
So if anyone has a solution to this,please post it in the comments section.
17.Given a file of 4 billion 32-bit integers, how to find one that appears at least twice?
Solution:The maximum size of int is 2,147,483,647 in case of 32-bit integers. Thus we need declare an array of long long int.
Then we can do a merge sort and in doing so we can find the integers which appear atleast twice in the merge step.Thus we can solve the problem in 
nlogn time.
If you have any better solution then please comment.
18 Write a program for displaying the ten most frequent words in a file such that your program should be efficient in all complexity measures.
Solution:This question is similar to question 9 in the context which it appears and
answer lies in the same paper 
19.Design a stack. We want to push, pop, and also, retrieve the minimum element in constant time.
Solution:Use 2 stacks S1 in to which the elements are pushed and S2 in to which only the current minimum is pushed.
When one needs to insert an element E ,we first push E on to S1 and then access the top element T of S2 which is the minimum before E has been inserted.If only E is less than T , we push E on to S2 .
When one needs to pop an element ,pop the top element of S1 and if this element is also equal to the one on top of S2, then pop it off S2 as well.

Hence the current minimum will always be on top of S2 .Hence along with other normal stack operations, access of minimum element is also possible in O(1).
20.Given a set of coin denominators, find the minimum number of coins to give a certain amount of change.
Solution:This is a flavour of coin change problem ,for which sufficient material is available at 

 HYPERLINK "http://www.algorithmist.com/index.php/Coin_Change" Coin Change Problem.
If you have gone through the above link,please refer below to the minor changes we make to the pseudo code of one given in the above link.
Let p[n][m] denote the minimum no of coins of various denomination required to give change for n cents from coins of m different denominations.

P[n][m]=min((1+p[n-S[m]][m]),p[n][m-1])// these notations will be clear only if you go through the above link thoroughly.

Then it isn't much difficult to write the conditions for base cases as well.
This is only a suggested solution to this problem and we have clues here and there as to how to proceed.
21.Given an array,
i) find the longest continuous increasing subsequence.
ii) find the longest increasing subsequence.
Solution:a)Given a sequence,we can find the longest continuous increasing subsequence in O(n) time.We traverse the sequence one and keep track of the points where the number decreases.
b)This problem can be solved in O(n^2).This can be solved in 3 methods.One method is to find the longest path in a directed acyclic graph.The other method is to sort the given sequence and make it copy and find the longest common subsequence on the 2 sequences.The third one is using the dynamic programming.
The following is a function which returns the length of the longest increasing subsequence in a.

int lis(int*a,int n)
{
int length[n],path[n],i,j,max=0;

for(i=0;i < N;i++)
length[i]=1,path[i]=i; //path contains the longest subsequence.

for(i=1;i < N;i++)
for(j=0;j < i;j++)
if(a[i] > a[j] && length[i] < length[j]+1)
length[i]=length[j]+1,path[i]=j;

for(i=0;i < N;i++)
if(max < length[i])
max=length[i];

return max;
}

22.Suppose we have N companies, and we want to eventually merge them into one big company. How many ways are there to merge?
olution:This is a repeated question, same as the 16th. So please refer to the 16th answer.
23.Write a function to find the middle node of a single link list.

Solution:


typedef struct linklist
{
int no;
struct linklist*next;
}list;

void midvalue(list*start)
{
list*head;
head=start;
while(1)
{
if(start->next==NULL)
{
if(head->next==NULL)
{
printf("Only one node in the list which is %d\n",head->no);
}
else
{
printf("Middle node is %d\n",head->next->no);
}
break;
}
if(start->next->next==NULL)
{
printf("Middle nodes are %d and %d\n",head->no,head->next->no);
}
start=start->next->next;
head=head->next;
}
return;
}

· 
What does *p++ do? Does it increment p or the value pointed by p? 
· What is a NULL pointer? How is it different from an unitialized pointer? How is a NULL pointer defined?
· What is a null pointer assignment error?
· Does an array always get converted to a pointer? What is the difference between arr and &arr? How does one declare a pointer to an entire array?
· Is the cast to malloc() required at all?
· What does malloc() , calloc(), realloc(), free() do? What are the common problems with malloc()? Is there a way to find out how much memory a pointer was allocated? 
· What's the difference between const char *p, char * const p and const char * const p?
· What is a void pointer? Why can't we perform arithmetic on a void * pointer?
· What do Segmentation fault, access violation, core dump and Bus error mean?
· What is the difference between an array of pointers and a pointer to an array? 
· What is a memory leak?
· What are brk() and sbrk() used for? How are they different from malloc()? 
· What is a dangling pointer? What are reference counters with respect to pointers? 
· What do pointers contain?
· Is *(*(p+i)+j) is equivalent to p[i][j]? Is num[i] == i[num] == *(num + i) == *(i + num)?
· What operations are valid on pointers? When does one get the Illegal use of pointer in function error?
· What are near, far and huge pointers?
· What is the difference between malloc() and calloc()?
· Why is sizeof() an operator and not a function?
· What is an opaque pointer?
· What are the common causes of pointer bugs?
Job Interview Questions on Trees
· Write a C program to find the depth or height of a tree.
· Write a C program to determine the number of elements (or size) in a tree. 
· Write a C program to delete a tree (i.e, free up its nodes)
· Write C code to determine if two trees are identical
· Write a C program to find the minimum value in a binary search tree.
· Write a C program to compute the maximum depth in a tree?
· Write a C program to create a mirror copy of a tree (left nodes become right and right nodes become left)!
· Write C code to return a pointer to the nth node of an inorder traversal of a BST.
· Write C code to implement the preorder(), inorder() and postorder() traversals. Whats their time complexities?
· Write a C program to create a copy of a tree
· Write C code to check if a given binary tree is a binary search tree or not? 
· Write C code to implement level order traversal of a tree.
· Write a C program to delete a node from a Binary Search Tree?
· Write C code to search for a value in a binary search tree (BST).
· Write C code to count the number of leaves in a tree
· Write C code for iterative preorder, inorder and postorder tree traversals 
· Can you construct a tree using postorder and preorder traversal?
· Construct a tree given its inorder and preorder traversal strings. Similarly construct a tree given its inorder and post order traversal strings.
· Find the closest ancestor of two nodes in a tree.
· Given an expression tree, evaluate the expression and obtain a paranthesized form of the expression.
· How do you convert a tree into an array?
· What is an AVL tree?
· How many different trees can be constructed using n nodes?
· A full N-ary tree has M non-leaf nodes, how many leaf nodes does it have? 
· Implement Breadth First Search (BFS) and Depth First Search (DFS)
· Write pseudocode to add a new node to a Binary Search Tree (BST) 
What is a threaded binary tree? 
C-program to check whether a binary tree is a Binary search tree
Posted: Sat, 22 Dec 2007 06:02:00 -0600
8. Write a C program to check if a given binary tree is a binary search tree or not?
Solution:
If the given binary tree is a Binary search tree,then the inorder traversal should output the elements in increasing order.We make use of this property of inorder traversal to check whether the given binary tree is a BST or not.We make note of the latest element that could have been printed and compare it with the current element.Given below is a C function to check it.

bool flag=true;
void inorder(tree T,int *lastprinted)
{
if(T==NULL)
{
printf("the tree is empty .Hence, it is a BST\n");
}
else
{
if(T->left!=NULL)
{
inorder(T->left,lastprinted);
}
if(T->data > *lastprinted)
{
*lastprinted=T->data;
}
else
{
printf("the given binary tree is not a BST\n");
flag=false;
exit(0);
}
inorder(T->right,lastprinted);
}
}


Now check the value of flag to say whether it is a BST or not.If it is not then it is already taken care by the code.

C-program to make a copy of a tree

7.Write a C program to create 
a copy of a tree

Solution:


#include<stdio.h>
struct binarysearchtree{
int data;
struct binarysearchtree* left;
struct binarysearchtree* right;
};
typedef struct binarysearchtree* tree;

tree copy(tree T)
{
if(T== NULL)
return NULL;
else
{
tree *newtree=(tree*)malloc(sizeof(tree));
newtree->data=tree->data;
newtree->left=copy(T->left);
newtree->right=copy(T->right);
return newtree;
}
}

· 
11. Write a C program to search for a value in a binary search tree (BST).
Solution:
#include<stdio.h>
#include<stdbool.h>
struct binarysearchtree{
int data;
struct binarysearchtree* left;
struct binarysearchtree* right;
};
typedef struct binarysearchtree* tree;


tree search_node(tree T,int num)
{
if(T==NULL)
{
return NULL;
}
else
{
if(T->data>num)
search_node(T->left,num);
else if(T->data<num)
search_node(T->right,num);
return T;
}


}


Click Here For More Questions


C-program to delete a node from a tree
10. Write a C program to delete a node from a Binary Search Tree?
Solution:

#include<stdio.h>
struct binarysearchtree{
int data;
struct binarysearchtree* left;
struct binarysearchtree* right;
};
typedef struct binarysearchtree* tree;


tree delete_node(tree T,int num)
{
tree temp;
if (T==NULL)
exit(0);
//return NULL;
else if(num<T->data)
T->left=delete_node(T->left,num);
else if(num>T->data)
T->right=delete_node(T->right,num);
else
{
if(T->left!=NULL&&T->right!=NULL)
{
temp=min(T->right);
T->data=temp->data;
T->right=delete_node(T->right,T->data);
}
else if(T->left==NULL)
{
temp=T;
T=T->right;
}
else if(T->right==NULL)
{
temp=T;
T=T->left;
}
free(temp);
}
return T;
}
1. In 1978, a kg of paper was sold at Rs25/- If the paper rate increases at 1.5% more than the inflation rate which is 6.5% a year, then what will be the cost of a kg of paper after 2 years?(a) 29.12
        (b) 29.72
        (c) 30.12
        (d) 32.65                                                                                                            
        (e) none of these

2. In A,B,C are having some marbles with each of them. A has given B and C the same number of marbles each of them already have. Then, B gave C and A the same number of marbles they already have.Then C gave A   and B the same number of marbles they already have.At the end A,B,and C have equal number of marbles. (i) If x,y,z are the marbles initially with A,B,C respectively. Then the number of marbles B have at the end       (a) 2(x-y-z)
         (b) 4(x-y-z)
         (c) 2(3y-x-z)
         (d)  x + y-z       Ans.. (c) (ii) If the total number of marbles are 72, then the number of marbles with A at the starting    (a) 20
      (b) 30
      (c) 32
      (d) 39    Ans.. (d)

3. If a car starts from A towards B with some velocity. Due to some problem in the engine after travelling  30km, the car goes with 4/5 th of its actual velocity The car reaches B 45 min later to the actual time.If the car engine fails ofter travelling 45km, the car reaches the destination B 36min late to the actual time What is the initial velocity of car and what is the distance between A and B in km   Ans.. 20 & 130.

4. A person has Rs 100/- in his pocket, he can as 25 pencils or 15 books.  He kept 15% of the money for  travelling expenses and purchased 5 pencils. So how many books he can purchase with the remaining money.
5. Ten questions on analogies.    eg: chief : tribe :: governor : state
          epaulette : shoulder :: tiara : head
          guttural : throat :: gastric : stomach
          inept : clever :: languid : active
          knife : butcher ::
          hammer : carpenter :: 

6. The values of shares (in Rs).of A, B and C from January to June are as follows.
	Month
	A
	B
	C

	January
	30
	60
	80  

	February
	35
	65
	85

	March
	45
	75
	65

	April
	40
	75
	82

	May        
	55
	75
	85

	June
	50
	75
	80



   i)       During this period which share has undergone maximium fluctuation?
   ii)      In which month it is possible to buy B and C selling A?
  iii)      In which month the share values are very low?
  iv)       By purchasing one share of A and 4 each of B and C in the beginning of the period,
            when shoudl these be sold to get maximum profit?

7.  In a computer institute 9 languages can be taught. The module is of 6 months duration and of the six languages only one can be taught each month . In addition to that BASIC is always taught and should be in first month itself
· WORD PERFECT is to be taught in the preceeding week of WORD STAR. 
· FORTRAN can not be taught until COBAL is taught prior to that 
· BINO, FIFO can never be taught in single module 
  Languages are BASIC, WORD STAR, WORD PERFECT, FORTRAN, COBAL, BINO, FIFO, LOTUS, C
      i) If word star is in 3rd month , what could be in 6th month.                                               
      ii) If COBAL is in the 2nd month and BINO in 6th month. FORTRAN will be taught in which month.
8. In a class, except 18 all are above 50 years.15 are below 50 years of age. How many people are there
       (a) 30
        (b) 33
        (c) 36
        (d) none of these.
        Ans.. (d)

9.  A square plate of some size is cut at four corners. Equal squares of the same size are cut and is formed as open box.If this open box carries 128 ml of oil. What is the size of the side of the plate?
       (a) 17
      (b) 14
      (c) 13
      (d) None of these

10. In a square, all the mid points are joined. The inner square is shaded. If the area of the square is A, what is the area of the shaded area?
11. Two questions on basic angles i.e given a circle, a few chords or diameter is drawn etc.
12. If the follwoing statements are given
· @(a,b)= (a+b)/2 
· /(a,b)= a/b 
· *(a,b)= ab 
      If a=1, b=2 then find
       i) /(a,(@(a,b),*(a,b)))
       ii) */(a,@(*(a,b)))

13. If the follwoing statements are given
· (x#y) = x + y- xy 
· (x*y) = (x + y)/2 
    i) Find the values of x, y will satisfy this equation (x#y)#(x*y) < (x#y)                              
    ii) Find the values of x, y will satisfy this equation (a*b)#(b*c)< (a#b)*(b*c)

14. Export PS1 results in(PS1 pwd)
      a) primary prompt being your current directory
      b) primary prompt and secondary prompts being the current directory
      c) primary prompt prompt being your home directory
      d) primary prompt and secondary prompts being the home directory
      e) None of the above.

15. If you type in the comman  nohup sort employees > list 2 > error out & and log off ,the next time you log in,  the output will be
        a) in a file called list and the error will de typed in a file error out
        b) there will be no file called list or error out
        c) error will be logged in a file called list and o/p will be in error out
        d) you will not be allowed to log in
        e) none of the above
16. In UNIX a files i-node ......?
    Ans.. Is a data structure that defines all specifications of a file like the file size, number of lines to a file, permissions   etc.

17. The UNIX shell ....
      a) does not come with the rest of the system
      b) forms the interface between the user and the kernal
      c) does not give any scope for programming
      d) deos not allow calling one program from with in another
      e) all of the above
       Ans.. (b)

18. enum number { a= -1, b= 4,c,d,e} What is the value of e ?                                          
      (a) 7
      (b) 4
      (c) 5
      (d) 15
      (e) 3

19. The very first process created by the kernal that runs till the kernal process is halts is
      a) init
      b) getty
     c) both (a) and (b)
     d) none of these
    
Ans.. (a)

20. Output of the following program is
        main()
        {int i=0;
         for(i=0;i<20;i++)
            {switch(i)
               case 0:i+=5;
               case 1:i+=2;
               case 5:i+=5;
               default i+=4;
                break;}
               printf("%d,",i);
              }
         }
      a) 0,5,9,13,17
      b) 5,9,13,17                                                                                                                   
      c) 12,17,22
      d) 16,21
      e) Syntax error
     Ans.. (d)

21. What is the ouptut in the following program
               main()
                {char c=-64;
                 int i=-32
                 unsigned int u =-16;
                 if(c>i)
                {printf("pass1,");
                 if(c<u)
                 printf("pass2");
                else
                printf("Fail2");
                }
               else
              printf("Fail1);
              if(i<u)
             printf("pass2");
            else
           printf("Fail2")
         }
     a) Pass1,Pass2
     b) Pass1,Fail2
     c) Fail1,Pass2
     d) Fail1,Fail2                                                                                                                  
     e) None of these
      Ans.. (c)

22. In the process table entry for the kernel process, the process id value is  
       (a) 0
       (b) 1
       (c) 2
      (d) 255
      (e) it does not have a process table entry
      Ans.. (a)
23. Which of the following API is used to hide a window
        a) ShowWindow
        b) EnableWindow
        c) MoveWindow
        d) SetWindowPlacement
       e) None of the above
       Ans.. (a)

24. What will the following program do?
        void main()
        {
          int i;
          char a[]="String";
          char *p="New Sring";
          char *Temp;
          Temp=a;
          a=malloc(strlen(p) + 1);
         strcpy(a,p); //Line number:9//
         p = malloc(strlen(Temp) + 1);
        strcpy(p,Temp);
        printf("(%s, %s)",a,p);
        free(p);                                                                                                                   
        free(a);
       } //Line number 15//
             a) Swap contents of p & a and print:(New string, string)
             b) Generate compilation error in line number 8
             c) Generate compilation error in line number 5
             d) Generate compilation error in line number 7
             e) Generate compilation error in line number 1
             Ans.. (b)

25. In the following code segment what will be the result of the function,value of x , value of y
      {unsigned int x=-1;
        int y;
       y = ~0;
       if(x == y)
       printf("same");
       else
        printf("not same");
     }
    a) same, MAXINT, -1
    b) not same, MAXINT, -MAXINT
    c) same , MAXUNIT, -1
    d) same, MAXUNIT, MAXUNIT
    e) not same, MAXINT, MAXUNIT
    Ans.. (a)

26. PATH = /bin : /usr : /yourhome The file /bin/calender has the following line in it  cal 10 1997The file/yourhome/calender has the following line in it cal 5 1997 If the current directory is /yourhome and calender is executed
           a) The calendar for May 1997 will be printed on screen
          b) The calendar for Oct 1997 will be printed on screen
         c) The calendar for the current month( whatever it is) will be printed
         d) Nothing will get printed on screen
         e) An error massage will be printed

27. What will be the result of the following program ?
           char *gxxx()
          {static char xxx[1024];
           return xxx;
           }
          main() 
         {char *g="string";
           strcpy(gxxx(),g);
           g = gxxx();
          strcpy(g,"oldstring");
          printf("The string is : %s",gxxx());
         }
           a) The string is : string
           b) The string is :Oldstring
          c) Run time error/Core dump
          d) Syntax error during compilation
          e) None of these
         Ans.. (b)

28. What will be result of the following program?
        void myalloc(char *x, int n)
         {x= (char *)malloc(n*sizeof(char));
         memset(x,\0,n*sizeof(char));
         }
          main()
         {char *g="String";
        myalloc(g,20);
        strcpy(g,"Oldstring");
       printf("The string is %s",g);
        }
       a) The string is : String
       b) Run time error/Core dump
      c) The string is : Oldstring                                                                                                    
      d) Syntax error during compilation
     e) None of these

29. Which of the following function is used to repaint a window immediatelya) Sendmessage(hWnd,WM_PAINt,......)
         b) InvalidateRect(.......)
        c) MoveWindow
       d) WM_COPY
       e) None

30. Which function is the entry point for a DLL in MS Windows 3.1    
        a) Main
        b) Winmain
        c) Dllmain
       d) Libmain
       e) None
      Ans.. (b)

31. The standard source for standard input, standard output and standard error is
        a) the terminal
        b) /dev/null
        c) /usr/you/input, /usr/you/output/, /usr/you/error respectively
        d) None
         Ans.. (a)
32. What will be the result of the following program?
          main()
          {char p[]="String";
             int x=0;
             if(p=="String")
             {printf("Pass 1");
              if(p[sizeof(p)-2]=='g')                                                                                      
               printf("Pass 2");
           else
              printf("Fail 2");
          }
          else 
       {
        printf("Fail 1");
        if(p[sizeof(p)-2]=='g')
        printf("Pass 2");
        else
        printf("Fail 2");
      } 
      }
    a) Pass 1, Pass 2
    b) Fail 1, Fail 2
    c) Pass 1, Fail 2
   d) Fail 1, Pass 2
  e) syntax error during compilation
33. Which of the choices is true for the mentioned declaration ?
        const char *p;    and
       char * const p;
     a) You can't change the character in both
     b) First : You can't change the characterr & Second : You can;t change the pointer
     c) You can't change the pointer in both
     d) First : You can't change the pointer & Second : You can't chanage the character
     e) None
34. The redirection operators > and >>
      a) do the same function                                                                                                   
      b) differ : > overwrites, while >> appends
     c) differ : > is used for input while >> is used for output
     d) differ : > write to any file while >> write only to standard output
     e) None of these
     Ans.. (b)
35. The command grep first second third /usr/you/myfile
         a) prints lines containing the words first, second or third from the file /usr/you/myfile
        b) searches for lines containing the pattern first in the files
             second, third, and /usr/you/myfile and prints them
        c) searches the files /usr/you/myfiel and third for lines containing the words first or second and prints them
        d) replaces the word first with the word second in the files third and /usr/you/myfile
        e) None of the above
       Ans.. (b)

 


Aptitude

    part 1 : letter series.
    part 2 : figures
    part 3 : quantities

Technical
    
   Most question are on Unix and some in C and some in 
   windows 3.1all question in Unix are From Kernighan & pike

 


    Part 1

It consists of number series.In some institutes alphabetical series is  given instead of number series.Iam having number series so iam sending that.Please go through tha alphabetical tests also.

 1.    19,24,20,25,21,26,? Ans.:22
 2.    11,14,12,15,13,16,? Ans.: 14
 3.    10,2,8,2,6,2,? a:4
 4.    8,9,11,14,,18,23,? a:29
 5.    25,25,22,22,19,19,? a:16
 6.    14,2,12,4,10,6,? a:8
 7.    7,16,9,15,11,14,? a:13
 8.    40,42,39,44,38,46,? a:37
 9.    3,18,4,24,5,30,? a:6
10.  18,20,22,20,28,20,? a:22
11. 18,20,10,12,4,6? a:0
12.  7,6,8,5,3,7,? a:4
13   9,18,21,25,20,? a:30
14   3,3,4,8,10,36,? a:33     
15.  30,28,25,20,34,28,? a:21
16.  4,8,16,32,64,128,? a:256
17.  8,16,24,32,40,48,? a:56
18.  13,11,14,12,15,13,? a:16
19.  6,18,36,108,216,648,? a:1296
20.  4,4,8,8,16,16,? a:32
21.  2,6,18,54,162,486,? a:1458
22.  4,20,35,49,62,74,? a:85
23.  10,18,15,23,20,28,? a:25
24.  4,10,8,14,12,18,? a:16
25  10,15,12,17,14,10,? a:16

part 2 consists of non-verbal reasoning (figures). So it is impossible for  me to send those.(25 questions)

 


   Part 3 (quantitative)

  1.  A clerk multiplied a number by ten when it should have been divided by  ten.The Ans. he got was 100.whatshould the Ans. have been?a:1

   2.  If Rs20/- is available to pay for typing a research report & typist A  produces 42 pages and typist B produces28  pages.How much should typist A  receive?  a:Rs12/-

  3.   The average salary of 3 workers is 95 Rs. per week. If one earns  Rs.115 and second earns Rs.65 how  much is the salary of the 3rd worker. Ans..105.

   4.  A 16 stored building has 12000 sq.feet on each floor. Company A rents 7  floors and company B rents 4floors.What is the number of sq.feet of  unrented floor space.   Ans..60000

  5.  During a given week A programer spends 1/4 of his time preparing flow  chart, 3/8 of his time coding andthe rest of the time in debugging the  programs. If he works 48 hours during the week , how many hours did hespend debugging the program. Ans.. 18.

  6.  A company installed 36 machines at the beginning of the year. In March they installed 9 additional machines  and then disconnected 18 in August.  How many were still installed at the end of the year.  Ans.. 27

  7.  A man owns 2/3 of the market research beauro business and sells 3/4 of  his shares for Rs. 75000. What is thevalue of Business.  Ans..150000

  8.  If 12 file cabinets require 18 feet of wall space, how many feet of  wall space will 30 cabinets require? Ans..45

  9.  A computer printer produced 176,400 lines in a given day. If the  printer was in operation for seven hours  during the day, how many lines  did it print per minute? Ans..420

10.   From its total income, A sales company spent Rs.20,000 for advertising, half of the remainder on commissions  and had Rs.6000 left.What was its total income? Ans..32000

11.  On Monday a banker processed a batch of cheques, on Tuesday she processed three times as many, and on  Wednesday she processed 4000 cheques. In the three days, she processed 16000 cheques. How many did she process on Tuesday? Ans..9000

12.  The cost of four dozen proof machine ribbons and five dozen accouting  machine ribbons was Rs.160/-. If one  dozen accounting machine ribbons cost Rs.20/-, what is the cost of a dozen proof machine ribbons?  Ans..Rs.15

13.  If a clerk can process 80 cheques in half an hour, how many cheques  can she process in a seven and one half  hour day? Ans..1200

14.  In a library, there are two racks with 40 books per rack. On a given  dya, 30 books were issued. Whatfraction remained in the racks? Ans..5/8

15. The average length of three tapes is 6800 feet. None of the tapes is less than 6400 feet. What is the greatest  possible length of one of the other tapes? Ans..7600

16. A company rented a machine for Rs.700/- a month. Five years later  the treasurer calculated that if the companyhad purchased the machine and paid Rs.100/- monthly maintenance charge, the company would have savedRs.2000/-. What was the purchase price of the machine? Ans..Rs.34000

17. Two computers each produced 48000 public utility bills in a day. One computer printed bills at the rate of 9600an hour and the other at the rate of 7800 an hour. When the first computer finished its run, how many  bills didthe other computer still have to print?Ans..9000

18. If a salesman's average is a new order every other week, he will break the office record of the year. However, after 28 weeks, he is six orders behind schedule. In what proportion of the remaining weeks does he have to     obtain a new order to break the record? Ans..3/4
19. On a given day, a bank had 16000 cheques returned by customers.Inspection of the first 800 cheques indicated that 100 of those 800 had errors and were therefore the available immediately for data processing. On this basis, hwo many cheques would be available immediately for data  processing on that day? Ans..14000

20. A company figured it needed 37.8 sq.feet of carpot for its reception  room. To allow for waste, it decided toorder 20% more material than  needed. Fractional parts of sq.feet cannot be ordered. At Rs.9/- asq.feet, how much would the carpet cost? Ans.. a. Rs.324 b) Rs.405 c) Rs.410 d) Rs.414 e) Rs.685

21.A tape manufacturer reduces the price of his heavy duty tape from Rs.30/- to Rs.28/- a reel and the price of a regular tape from Rs.24/- to  Rs.23/- a reel. A computing centre normally spends Rs.1440/- a month for tapes and 3/4 of this is for heavy duty tapes. How much will they save a  month under the new prices?   Ans..Rs.87

22. In a team of 12 persons, 1/3 are women and 2/3 are men. To obtain a team with 20% women how many menshould be hired?  Ans..8    

23. The dimensions of a certain machine are 48" X 30" X 52". If the size  of the machine is increasedproportionately until the sum of its dimensions equals 156", what will be the increase in the shortest side? Ans.. 6"

24. In a certain company, 20% of the men and 40% of the women attended  the annual company picnic. If 35% of  all the employees are man, what  percent of all the employees went to the picnic? Ans..33%

25. It cost a college Rs.0.70 a copy to produce a Programme for the  homecoming football game. If Rs.15,000/- was received for advertisements in the programme, how many copies at Rs.0.50 a copy must be sold to make a profit of Rs.8000/- ?Ans.. 35000 

 

Aptitude

1.  Speed of boat in still water is 10kmph..if it travels 24km downstream,16km upstream in the sameamount of time,what is the speed of the stream?      (a)3kmph      (b)3.5kmph      (c)2kmph      (d)...

2.  A cube of 3 units is painted on all sides.If this cube is divided into cubes of 1 unit,how many cubehave none of their faces painted?         (a)...         (b)2         (c)1                          (d)0         (e)none of these 
3.  If a person sells a product for rs141/- he suffers a loss of 6%.if he has to have a profit of 10%,
     at what price should he sell it?            (a)            (b)rs.175            (c)..            (d)rs.165
      Ans..rs.165 (i think,check) 
4.  A ball falls from a height of 8ft ,bounces back to half the distance & continues till it comes to rest.
     what is the total distance travelled by the ball?        (a)24ft       (b)...       (c)infinite      (d)cannot be determined      Ans.:(a)
5.   Which of the following is the sum of 3 consecutive prime nos?         (a)49         (b)59         (c)both a &b         (d)....         Ans.:c 
6.  If the area of a square has increased by 69%,by what % has its side increased? 
7.  In a class the average age is 16yrs.if the teacher who is 40 yrs of age is also included ,the average becomes  
     17yrs,how many students were there? 
8.  If 3 houses are to be painted,mr A can paint a house in 6 days(nos are not same)...mr B can do the same in 8  days...& mr.C in 12 days.if mr A does the work for 8 days & leaves for vacation, & mr B continues the work
    for the next 6 days, for how many days should mr.C work?
    Ans.:11 days(check) 
9. 4 thieves rob a bakery of the breadone after the other.each thief takes half of what is present ,& half  a     bread...if  at  the end 3 bread remains,what is the no of bread that was present initiallly?
     Ans.:63(check) 
10. If the 1rst day of 1999 is a sunday,what is the last day?      (a)sunday     (b)monday              (c)....    (d)cannot be determined.
11.  If A driver drives a car four times a lap 10,20 30,60 kmph what  is his average speed.Ans.:20kmph In a group there are two kinds of people type A & type B.type A people Ans.wer for any question as YES &that of type B as NO.if they can not Ans.wer to these question then they remain silent. the mayor asks question to them as follows........ 
12.  If he asks a person are u type Aa.YES b.NO c. Silent d.Can not be determined 
13.  He asks two persons X &Ysimultaneously whether u of same type  a. YES b. NO c.YES or NO d. Silent e. can not be determined 
14.  Pointing to a person X he asks Y what is his typea. YES b. No c. Silent d can not be determined 
15. Pointing to a person X he asks Y if I ask him whether r u  type A ,will he Ans.wer YES.Y says NO .what typeof  B isa. YES b. NO . c. Silent d. can not be determined
16. Six squares of same dimension are kept side by side to make a rectangle with a perimeter of  182 cm. what isthe perimeter of each square.Ans.) 52.
17. One student takes 20 mins to reach school if he goes at a speed of 15kmph .At what  speed should he go to      reach in 15 mins ( nos are not same) Ans.: 16kmph( check)
18. How many rational numbers are there between 0 & 5
      Ans.:infinite 
19. A certain number of bullets were shared by 3 people equally.Each of them fired 4 bullets and the sum of the      remaining bullets was equal to the initial share each had got.what was the initial  number of bullets?Ans.:18..( 18/3=6;6-4=2,6-4=2,6-4=2; 2+2+2=6=Ans.) 

 

          Technical:


  20. A trigger is  (a) a statement ..start of database..  (b)statements that r executed as a side effect to the modification to the database  (c)...   (d)...   Ans. (b)
 21. What does the following statement mean?  int (*a)[4]  (a)'a' is a pointer to an array of 4 integers  (b)'a' is an array of pointers to integer   (c)'a' is a pointer to function returning an integer   (d)...    Ans.:a 
22.  Best method to find out whether a given array already sorted,is sorted or not in min. time
      Ans.. insertion sort (check) 
23. A primary key in one table also present in some other table is called
      (a)foreign key
      (b)secondary key
      (c)subordinate key
      (d)...
      Ans.. foreign key 
24. Which of the following is a real time system?  (a)robotics control  (b)airline ticket reservation(Ans.)   (c)  (d)...
25.  A question to convert a big no in decimal to octal(check only for the last 2 nos in Ans. is sufficient)
26.  Which of the following is an example of a spooling device?    (a)..    (b)line printer..    (c)    (d)    (e)... 
27.  If in a table:account no,account holders name,account type ,.....(something else was given)are the fields,which   of  them could be the primary key?     (a)account no(Ans.)     (b)account holders name     (c)account type     (d).. 
28.  If a file is opened in "r+" mode(in C),it meAns.(a) write  (b)read  (c)...  (d)..... 
29.  What is the difference between 123 and 0123 in c?   (a)120   (b)40   (c)0   (d)...    Ans.:40 
30.  Software Configuration Management process is -    (a)developing & managing software for .....software....   (b)developing & managing hardware for....software.......                                              (c)...    (d).. 
31.  Data Integrity constraint is   (a)to ensure the presence of primary key   (b)...   (c)...   (d)... 
32. Which of the following uses the minimum length of cable?  (a)ring  (b)star  (c)mesh  (d)bus  (e)all of the above 
31. How can u append the ls and who to certain existing file (like  that)(i.e.listing & output of who is to be directedto a file  (a)ls;who>filename  (b)ls;who>>filename   (c)(ls;who)>>filename   (d)who;ls<filename   (e)... 
34. Suppose u have a network .users complain of slow ....u suspect a problem in network adapter once u find that the data is continuous and erroneous.what device do u use?  (a)volt-ohmmeter  (b)SNMP  (c)protocol... checking  (d)all of the above
35. What is vector processing? 
36. x-=y+1 is equivalent to what?                                                                                         (a)x=x-y+1
      (b)...(c)x=x-y-1(d)...  Ans.:(c) 
37. In a student form what is the relationship b/w student and course   (a)one to one   (b)many to one   (c)one to many   (d)many to many 
38.  ROM is(a)volatile(b)permanent & fast(c)device containig boot up program & is not accessible  (d)... I have given 38 questions out of 40 q's ...hope it will be useful 2 all of u... they didnt select any ec people 4interview..:( only CS,IS..& 2 from TE. that's all from my side.. here are some hr questions as sent by jagannatha  (CS-PESIT) 

 

HR questions:

1. why 2+2 is 4 why not 5.
Ans.: assume u took 2 apples from A and 2 more apples from B and assume u are having 5 and give 2 to X and give 2 more to Y then nothing will be with u i.e u lossed. (give some Ans.wers but dont say that it is like that only )
2.how may stones did hanuman thowned on lanka? ( diffirent but of same type) and one more how many trees are there in u'r campus ...
Aptitude 

1. like 3 consecutive prime adds to some no what is that Ans.: both 49 and 59.  
2. One persont travlled 4 laps with the speed of 10,20,40 ( or 30) and 60 kmph and what is the average speed.
     Ans.: 20 (sure)
3  like one student takes 20 mins if he go with speed 15kmph and at what speed he  should go to reach in 15 mins (nos are not same) Ans.: 16kmph( but not sure)
4. There are 2 type of people group 'yes' who always says yes ( they never say 'no') if they are not sure about 
    they will remain sailent. and other grou name 'no' where the group of people always say 'no' if they are not sure 
    theywill remain silent. thats it now quetions are
   1. what will be the Ans.wer if i ask are u belong to group 'yes' options are: they remain silent ,say yes, say no, either   yes or no, can't  be determined
   2. Same quetion but if i ask are u belong to group 'no' Ans.wers for both above quetions are not ( not determined)
   3. what will the other person say if ask are u belong to grou 'yes' and etc here were 5 quetions first 4 u can do it   last one little bit tough. spend some time on this u can do it.
9.  like from height of 8 mts on ball fell down and each time it bounces half the distnace back. so what will be the 
    distance travelled Ans.: 24 (sure) like 8+4+4+2+2+1+1+0.5+0.5+ and etc .. Ans.wer is not 20
10.like 6 cubes are arranged adjacentlay and given the perimeter and aksed to find the perimeter of one cube.
    Ans.: if x is the total perimeter then (x/14)*4 leads to the Ans.wer. but check it once u will be having plenty of time.
     Ans.wer is 52 (13*4)
11. some data is given like this 10kmph in still water ship took some x mins and downstream some y mins in same  time what is the stream value .... (q is not exat) Ans.: 3 (not sure)
12.Some average problem like 16 students average weight and teacher joins them .... Ans.: 23 (sure) do this    (16x+40)/(x+1) will give the value.
13. Some probelm on square like to increase area by 69% by what percent side should be incresed Ans.: square root of 169 i.e 13 ( not sure)
14. no of rational nos b/w 0 and 5  Ans.: infinite                                              
15. First day of 1999 is sunday what day is the last day Ans.: monday
16.bullets probel some x no of bullets are shared by 3 people equally . and each fired 
4 bullets then the sum of remaining bullets is equal to intially divsion value Ans.: 18 (sure)
17. bread problem, one come and eat half no of breads and somthing... Ans.: 63( check it)
18. like A can do in 6 day and B can do in 8 and C can do in 12 days but b left after working for 6 days for how  many no of day A and C shluld work  Ans.: 11( i dont think so this is correct)
19.  I give a jcl code with Programmer name: smith Jobname:ABC Jobclass=c Message class = a All messages are
      to be displaced code it  in a JCL.
          A)     //ABC,smith,class=c,message class=a,message level=(2,1)
          B)      //ABC,smith,class=c,message class=a,message level =(!,1)
          C)      //ABC,smith,class=c,message class=a,message level=(0,1)
          D)      none of these.
20. For a cobol program Move 5 to work-sd. A statement which says that the value of work-st is 0.
          perform Para1.
         ……………
          Para1.
          Add 3 to work-sd
          Add 2 to work-st
          If work-st <11 go to main-para.
          ……………… 
          go to para1. 
         What would be  the value of  work-sd?
           a)       15
           b)       18
           c)       10
           d)       none
  21. Given 2 tables T1 and T2.
                      T1
T2                                                                            
                      A
1 

B
2

 C3
                      You  make a query    SELECT * FROM T1,T2.
    What is the no: of rows that are fetched frm this query?
         a)                   4
         b)                   5
        c)                   6
       d)                   9
22. Who is the data base manager of db2?
         a)       buffer register
         b)       runtime suprivisor
         c)       DBRM
         d)       None
 23.  You have a file with DISP=SHR, when u open the file in output mode
         a)       the records get appended
        b)       the records gets overwritten
        c)       the job abbends
        d)       none of these                                                                                         
24. To exclude some records while sorting which parameter do we use?
         a)       OMIT
         b)       EXCLUDE
        c)       ….d)….
25  You have a dataset TIME.WORK.OCT88, u want to concatenate other datasets likeTIME.WORK 
       .JUL88,TIME.WORK.APR88, TIME.WORK.MAY88. how do u do that?
         a)//DDname DD DSN = TIME.WORK.OCT88, DISP = SHR
                          DD DSN = TIME.WORK.JUL88, DISP = SHR

          DD DSN = TIME.WORK.APR88, DISP = SHR

          DD DSN = TIME.WORK.MAY88, DISP = SHR
     b)//DDname  DD DSN = TIME.WORK.JUL88, DISP = SHR
              
         DD DSN = TIME.WORK.OCT88, DISP = SHR
                        DD DSN = TIME.WORK.APR88, DISP = SHR
                        DD DSN = TIME.WORK.MAY88, DISP = SHR
     c)//DDname    DD DSN = TIME.WORK.APR88, DISP = SHR

       DD DSN = TIME.WORK.JUL88, DISP = SHR

       DD DSN = TIME.WORK.MAY88, DISP = SHR

       DD DSN = TIME.WORK.OCT88, DISP = SHR
     e)       none of these
     
  26. When db2 entries are made while working in cics, the enteries should be made in
      a)       TCT
      b)       PCT
      c)       DCT
      d)       RCT
27. Find the odd one out
       a)       KSDS
       b)       RRDS
       c)       LDS
       d)       PDS
28. Full form of VTOC
 29. Question based on SKIP and COUNT parameter

Technical

1. what is vector processing                                                                                        
2. what is data integrity Ans.: option a ( like the range of values is defined by data integrity)
3.which topology takes minimum wiring options: star,bus,ring and complete etc
   Ans.: find it from network text book ( may be bus or ring)
4.best sorting if elements are already sorted Ans.: insertion sort(sure)
5.software configuration management ----- Ans.: option a ( but check it from SE text book there are only 2 confusing 
   Ans.wers)
6.In network the packers are flowing unnecessarly what is the way to controlit and .... options: SNMP, and some i 
   dont remember.
7.some octal no to decimal conversion for given octal no the last digit was 7 Ans.: the option a ( the decimal last 
    digit was 1)
8. x-=y+1 is equivalant to Ans.: x=x-y-1 (sure) because it is interpreted as x=x-(y+1) 
9. in a student form what is the relationship b/w student and course Ans.: actually it is many to one but they 
   specified in   a student form so think and write.
10.which is correct to append the ouput of ls and who to some file x. Ans.:(who;ls)>>x (check it)
11.what is trigger in DBMS (know what it will do)
12.what happens when we open a file in r+ mode like whether file will be created if it s not there can we write to file 13. what is ROM Ans.: it contains boot up program and it is not accesible that was one Ans.wer and anothe option was it is non volatile ( choose one among these 2)
14. what is int (*a)[4]  Ans.: pointer to an array of 4 integer (check it)
15. primary key of anothe table is present and so on.......... Ans.: foreign key
16. what is the diffirenece b/w 0123 and 123 in c? Ans.:40(sure)
17. which among the devices is spooled device
18. if u get error in adapter which device will u use?Ans.: contact electronics student. one of the option was  voltometer. 


The paper contains total 40 questions. Duration 1 hour.20 ques from apptitude (R.S.Agarwal is more than enough for IBM apps.)20 questions from technical OS, DBMS, C++, Software Engineering etc. 

Apptitude

1. If A can do a particular work in 8 days. B can do the work in 6 days. By C joining with them, they can finish the 

work in 3 days. If Rs.540 was paid to them, what is the share of C?
2. By selling a product a seller is gaining 10% on selling price. If he sell that product Rs.80 less, he would have

been losing 10%. What is the cost price? 
3. If A dricer drives a car four times a lap 10,20 30,60 kmph what is his average speed. 
4. If M persons are going for a party, then their share is $D. If three persons were absent, then how much 

share will be increased for each individual.(Solution : Average = D/M. Three absent New average = D/M-3
Increase = Newaverage - Average = D/M-3 - D/M )
5. If the radious is increased by 50%. How much will be the volume increased for a circle / Sphere in percentage. 
6. One person is wearing Black and White shoes as his pair. If he is having 20 white and 20 Black shoes. 

What will be the less number of time he have try to take his correct pair of shoes.
7. The age of the grand father is the sum of his three grandsuns. The second is 2 year younger than first one and

the third one is 2 year younger than the second one. Then what will be the age of the grandfather. 
8. In a grass field, If there are 40 cows, they could eat for 40 days. If there are 30 cows, they could eat for 

60 days. Than if 20 cows, How much day they could eat?
9. If the size of the fruit is two times the size of the seed. Then what is the volume of the seed. (derive general 

equation) 
10. Speed of boat in still water 10 kmph.If the boat takes 24hr in up stream and 16hr in down stream to cross

the same distance, then what will be the distance covered.
11. How many times do the hands of the clock coincide in a day? 

12. If a person is standing in room, that is having mirrors in all the four walls. How many images of the person will appear.

13. Two clocks meet at 12. Next time they meet again after 
Ans.: 65.45

14. Soldiers form a square. Initially 32 soldiers eft. Then 8 .Afterthey could not form a square. Total at the beginning options.100,81,49,67

15. Age of Grandfather is the ages of 4 grand childrenwhere their ages are in consective. Find the age of GF

Ans.: may be 72

16. 3 person waiting for the train Some conditions given.Finally they ask the time.
Ans. is 4.37

17. Some Squirrel qs where it covers 1/4 th distance then 1/2 i could't remember

18. If mpown=121.Then m-1pown+1 is 1000

19. If speed in the ratio 5:4:3 then the time taken to cover the same distance is

20. 20men construct a wall 56m in some days similar one 
Ans. 49 (check aggarwal)




Technical
1. main()
{
printf("%u",main); 
}
what will be the output?

2. main()
{
int 1,b;
int con;
1=b=2;
con (b==1) ? 1 : 0;
printf("%d",con);
}
what will be the value of con? 
3. Software Configuration Management process is -------------- 
4. Data Integrity constraint is ---------------------- 
5. Paging is ------------------------ 
6. What type of memory could be accessed in least time?

7. char *p=(char *)10 op=?

8. Running time of 8T(n/2)+q is ncube

9. Scope of static and automatic var 2qs

10 nodes in binary tree of length 4 is 15(2pown -1)

11 how to convert 2d array to single dimension options are 

12. convering a row 2 colunm 3 or both in to o's

13. comments-for documentaion or it increases file size like that .u have toi choose the correct one
14. int i=10;
printf("%d%d%d",i,i++,++i);

Ans.: compiler dependent
15. printf("Enter two values a and b:"):
scanf("%d%d",a,b);
printf("%d+%d=%d",a,b,a+b); 

Ans.:core dumped
16. Question on WM_SIZE

Ans.:WM_SIZE
17. When destroy window what message would disply

Ans.:WM_DESTROY
18. MS Windows 3.1 about multitasking 

Ans.:nonpreemptive
19. windows 3.1 is

Ans.:application
20. About switch switch statement

Ans.:16,21
24. question paper the first question 
Ans. is

Ans.:can't be compiled 
25. about send messages and post messages

Ans.: c
26. what is the command to intiate the windows

Ans.:WinMain

Directions (1-10): What will come in place of the question mark (?) in the            following questions?
              1.         36 +14 x0.5 = ?
                        1) 25
                        2) 42
                        3) 50.5
                        4) 25.5
                        5) None of these
            2.         0.05 x 0.01= ?
                        1) 0.0005
                        2) 0.005
                        3) 0.05
                        4) 0.00005
                        5) None of these            3.         0.2 x10 -2
= ?                        1) 2
                        2) 0.02
                        3) 0.002
                        4) 0.0002
                        5) None of these
            4.         15 –10 +5 x 2÷5 = ?
                        1) 70
                        2) 4
                        3) 5
                        4) 17
                        5) None of these          
            5.         (12+12+12+12) x12×12 = ? x 48
                        1) 576
                        2) 6912
                        3) 24
                        4) 144
                        5) None of these
            6.         37% of 150-0.05% of 1000 =?
                        1) 50
                        2) 55
                        3) 55.5
                        4) 55.55
                        5) None of these
            7.         999 x 99 x 9 ÷ 99 ÷ 9 ÷ 3 = ?
          ¼br />                         1) 111
                        2) 333
                        3) 999
                        4) 99
                        5) None of these
            8.         (15)98  x (15) -95  = ?                        1) 3375
                        2) 225
                        3) 45
                        4) 75
                        5) None of these
            9.         3.75 + 2.832 – 1.00  + 1.803 = ?
                        1) 8.385
                        2) 4.009
                        3) 7.384
                        4) 5.01
                        5) None of these
            10.       x ÷  x ÷ = ?
                        1)
2) 
3) 5 
4) 
5) None of these                                  Directions (11-15): What will come in place of the question mark (?) in the          following number series?
          ¼br /> 
            11.       3    20    87   392 ?                        1) 1612
                        2) 1963
                        3) 847
                        4) 2025
                        5) None of these
            12.       12   28   75   316   1555 ?
                        1) 9366
                        2) 9294
                        3) 7811
                        4) 9336
                        5) None of these
            13.       112   111  119   92  156   31 ?
                        1) 375
                        2) 287
                        3) 387
                        4) 247
                        5) None of these
            14.       1   15   16   31   47   78   125 ?
                        1) 172
                        2) 203
                        3) 139
                        4) 167
                        5) None of these
            15.       55   60    67   78   91  108 ?
                        1) 125
                        2) 121
                        3) 127
                        4)  89
                        5) None of these
Directions (16-18): Study the following information to answer the given questions.
          ¼br />                         A Committee is to be formed from a Group of 6 women and 5 men. Out of the 6 women           2 are Teachers, 2 Social Workers and 2 Doctors. Out of the 5 men 3 are Teachers and 2      Doctors. In how many different ways can it be done?
            16.       Committee of 6 persons in which at least 2 are Doctors.
                        1) 210
                        2) 102
                        3) 371
                        4) 350
                        5) None of these            17.       Committee of 2 Teachers, 2 Doctors and 1 Social Worker.
                        1) 462
                        2) 210
                        3) 32
                        4) 120
                        5) None of these
            18.       Committee of 5 with 3 Females and 2 Males and out of which having 2 Social Workers                                     and at least 2 Female Doctor and at least 1 Male Doctor.
                        1) 32
                        2) 14
                        3)  9
                        4) 8
                        5) None of these
                        Directions (19-20): Study the following information to answer the given questions.
                        A box contains 8 Red, 16 Blue, 4 Yellow and 12 Black Balls.
            19.       One ball is picked up randomly. What is the probability that it is not Blue ?                        1) 0.24
                        2) 0.8
                        3) 0.3
                        4) 0.5
                        5) None of these
            20.       Two balls are picked up randomly. What is the chance that both are Red ?
                        1)
                        2)
                        3) 
                        4)
                        5) None of these                        Directions (21-25): In each of the following questions either one or more than one          answer may be possible. If only one answer is possible, the number of that alternative ie,          (1), (2),(3), or (4) in which the answer is given is the answer. If more than one answer is        possible give answer (5), ie "More than one answer". Please note that all the possible    answers may not be shown as alternatives.

            21.       = ?x 
          ¼br />                         1) 25
                        2) 10
                        3) -15
                        4) 3
                        5) More than one answer
          ¼br />             22.       The 3 sides of a triangle are 6cm, 13cm and x cm respectively. If x is an integer and its                           value  is between 4cm and 8cm (both values included), what is the value of x in cm ?                      ¼br />                         1) 4
                        2) 5
                        3) 8
                        4) 7
                        5) More than one answer
            23.       The three sides of a triangle are 6cm, 13cm and x cm respectively. If x is an integer and                                     its value is more than 17cm, what is the value of x in cm?
                        1) 18
                        2) 19
                        3) 21
                        4) 22
                        5) More than one answer
            24.       If 2x2 +12x +18 = 0;what is the value of x ?                        1) 3
                        2) -3
                        3) -2
                        4) 2
                        5) More than one answer
            25.       The ratio of the area of a circle to its diameter is 22:1. What is the measure of its radius ?
                        1) 48
                        2) 7
                        3) 24
                        4) 14
                        5) More than one answer
ANSWERS:              ¼br />  
            1. (5)
            2. (1)
            3. (3)
            4. (5)
            5. (4)
            6. (2)
            7. (2)
            8. (1)
            9. (3)
            10. (5)
            11. (5)
            12. (1)
            13. (4)
            14. (2)
            15. (3)
            16. (3)
            17. (4)
            18. (2)
            19. (5)
            20. (4)
            21. (4)
            22. (3)
            23. (1)
            24. (2)
            25. (5)
C Aptitude Questions IBM Papers 

Predict the output or error(s) for the following:
1.    void main()
{
            int  const * p=5;
            printf("%d",++(*p));
}

Answer:
Compiler error: Cannot modify a constant value. 
Explanation:    
p is a pointer to a "constant integer". But we tried to change the value of the "constant integer".
2.    main()
{
            char s[ ]="man";
            int i;
            for(i=0;s[ i ];i++)
            printf("\n%c%c%c%c",s[ i ],*(s+i),*(i+s),i[s]);
}

Answer:
                        mmmm
                       aaaa
                       nnnn
Explanation:
s[i], *(i+s), *(s+i), i[s] are all different ways of expressing the same idea. Generally  array name is the base address for that array. Here s is the base address. i is the index number/displacement from the base address. So, indirecting it with * is same as s[i]. i[s] may be surprising. But in the  case of  C  it is same as s[i].
3.      main()
{
            float me = 1.1;
            double you = 1.1;
            if(me==you)
printf("I love U");
else
                        printf("I hate U");
}

Answer: 
I hate U

Explanation:
For floating point numbers (float, double, long double) the values cannot be predicted exactly. Depending on the number of bytes, the precession with of the value  represented varies. Float takes 4 bytes and long double takes 10 bytes. So float stores 0.9 with less precision than long double.
Rule of Thumb: 
Never compare or at-least be cautious when using floating point numbers with relational operators (== , >, <, <=, >=,!= ) .  
4.      main()
            {
            static int var = 5;
            printf("%d ",var--);
            if(var)
                        main();
            }

Answer:
5 4 3 2 1

Explanation:
When static storage class is given, it is initialized once. The change in the value of a static variable is retained even between the function calls. Main is also treated like any other ordinary function, which can be called recursively.  
5.      main()
{
             int c[ ]={2.8,3.4,4,6.7,5};
             int j,*p=c,*q=c;
             for(j=0;j<5;j++) {
                        printf(" %d ",*c);
                        ++q;     }
             for(j=0;j<5;j++){
printf(" %d ",*p);
++p;     }
}
 
Answer:
                        2 2 2 2 2 2 3 4 6 5

Explanation: 
Initially pointer c is assigned to both p and q. In the first loop, since only q is incremented and not c , the value 2 will be printed 5 times. In second loop p itself is incremented. So the values 2 3 4 6 5 will be printed. 
6.      main()
{
            extern int i;
            i=20;
printf("%d",i);
}
 
Answer:  
Linker Error : Undefined symbol '_i'
Explanation: 
                        extern storage class in the following declaration,
                                    extern int i;
specifies to the compiler that the memory for i is allocated in some other program and that address will be given to the current program at the time of linking. But linker finds that no other variable of name i is available in any other program with memory space allocated for it. Hence a linker error has occurred 
Statements : some sticks are bolts.
Kite is a stick
Conclusions: I some bolts are sticks.
II some kites are bolts.
Sol. (d) the middle term 'sticks' forming the subject is not distributed in the 
first premise which is an I type proposition. The middle term forming the 
predicate is not distributed in second premise as it is an A type proposition and
distributes subject only.
 
 

 
 

     12. Statements : some ministers are clerks.
All clerks are businessmen. 
Conclusions: I some ministers are businessmen.
II all businessman are clerks.
Sol. (a) Since one premise is particular, the conclusion must be particular. So 
only conclusion I follows.
 
 

======================================================================
 
 

 
 

 
 

 
 

13. Which is the number that comes next in the following sequence?
4, 6, 12, 14, 28, 30, (…)
Sol: The sequence is a combination of two series: 
i. 4, 12, 28, (…) and ii. 6, 14, 30
Now, the pattern followed in each of the above two series is:
+8, +16, +32
So, missing number = 28 + 32 = 60
 
 


 

14. Find the wrong number in the given series?
7, 28, 63, 124, 215, 342, 511
Sol: Clearly, the correct sequence is
2^3 – 1, 3^3 – 1, 4^3 – 1, 5^3 – 1, ……….
Therefore, 28 is wrong and should be replaced by (3^3 – 1) i.e, 26.
 
 

 
 

15.Which term comes next in the series : YEV, WFD, UHG, SKI ?
 
 

Sol: Clearly, the first letter of each term is moved two steps backward to obtain the first letter of the next term. So, the first letter of the missing term will be Q. 
The second letter of the first , second, third and fourth terms are respectively moved one, two, three and four steps forward to obtain the corresponding letter of the subsequent term. So, second letter in the missing term will be O. 
The third letter is alternatively moved two and three steps forward to obtain the corresponding letter of the subsequent term. So the third letter in the missing term will be L.
Thus the missing term is QOL.
 
 

 
 

16. aab_ aaa_ bba_
 
 

Sol: 1. The first blank space should be filled in either by 'b' so that we have two a' s followed by two b' s.
2. The second blank space should be filled in either by 'a' so that we have four a' s followed by two b' s, or by 'b' so that we have three a' s followed by three b' s.
3. The last space must be filled in by 'a'.
4. Thus, we have two possible answers : 'baa' and 'bba' . 
 
 

 
 

==================================================================
 
 

 
 

1. 17.   One day, Ravi left home and cycled 10 km southwards, turned right and cycled 5 km and turned right and cycled 10 km and turned left and cycled 10 km. How many kilometers will we have to cycle to reach his home straight?
Sol: Clearly, Ravi starts from home at A, moves 10 km southwards upto B, turns right and moves 5 km upto C, turns right again and moves 10 km upto D and finally turns left and moves 10 km upto E. 
Thus,his distance from initial position A 
= AE = AD + DE
= BC + DE = (5 + 10) km = 15 km
18. Kailash faces towards north. Turning to his right, he walks 25 meters. He then turns to his left and walks 30 meters. Next, he moves 25 meters to his right. He then turns to his right again and walks 55 meters. Finally, he turns to the right and moves 40 meters. In direction is he now from his starting point?
 
 

Sol: 
 
 


 

Kailash turns towards right from north direction. So, he wails 25 m towards east upto B, turns left and moves 30 m upto C, turns right and goes 25 m upto D. At D, he turns to right towards the south and walks 55m upto E. Next, he again turns to right and walks 40 m upto F, which is his final position. F is to south-east of A. So, he is to the south-east from his starting point.
 
 

 
 

 
 

19. Deepa moved a distance of 75 meters towards the north. She then turned to the left 
and walking for about 25meters, turned left again and walked 80 meters. Finally, 
she turned to the right at an angle of 45o. In which direction was she moving 
finally
 
 

Sol: Deepa started from A, moved 75 m upto B, turned left and walked 25 m upto C. 
She then turned left again and moved 80 m upto D. Turning to the right at an angle 
of 45o, she was finally moving in the direction DE i.e., South-west.
 
 

 
 

 
 

 
 

 
 

 
 

20. Kunal walks 10 kms towards North. From there he walks 6 kms towards south. 
Then, he walks 3 km towards East. How far and in which direction is he with 
reference to his starting point?
 
 

Sol: Clearly, Kunal moves from A 10 km northwards upto B, then moves 6 km southwards upto C, turns towards east and walks 3km upto D.
Then, AC = ( AB – BC ) = ( 10 – 6 ) = 4 km
CD = 3 km
So, Kunal's distance from starting point A 
= AD = Ö( AC^2 + CD^2) = Ö(4^2 + 3^2) = 5 km
Also, D is to the North-East of A.
A, B, C and D are related to each other. 
* One of the four is the opposite sex from each of the other three. 
* D is A's brother or only daughter. 
* A or B is C's only son. 
* B or C is D's sister. 
How are they related to each other? 
Answer 
A, B & D are males; C is female. B is C's only son. A & D are C's brothers. 
A(male) --- C(female) --- D(male) 
| 

 

| 
B(male) 
Work out which relation can hold and discard the contradictory options. 
From (2) and (4), D can not be a only daughter and have a sister (B or C). Hence, D is A's brother i.e. D is a Male. 
From (4), let's say that B is D's sister i.e. B is Female. 
From (3), A is C's only son i.e. A is Male. 
But D is A's brother which means that A is not C's only son. Hence, our assumption was wrong. 
Thus, C is D's sister i.e. C is Female. And B must be C's only son. 
Now it is clear that D & B are Males and C is Female. A must be a Male as only one of them is of opposite sex from each of the other three. And he is C & D's brother. 
============================= 
Brain Teaser No : 00404 
At the party there were 19 females, 12 males, 14 adults and 17 children. Then I arrived and the number of different man-woman couples possible became equal to the number of boy-girl couples possible. 
Who am I - a man, a woman, a boy or a girl? 
Note that if there were 9 boys and 8 girls at the party, then there would have been 72 (9x8) boy-girl couples possible. 
Answer 
I am a Girl and there were 9 men, 5 women, 3 boys and 14 girls before I arrived at the party. 
Before I arrived, let M be the number of male adults (men) at the party. 
Then, the number of female adults (women) = 14 - M 
The number of boys = 12 - M 
The number of girls = 5 + M 
Now, I arrived at the party and I am either a man or a woman or a boy or a girl. Let's consider each case one-by-one. 
Case I: Let's assume that I am a Man. It is given that after I arrived, the number of different man-woman couples possible became equal to the number of boy-girl couples possible. Hence, 
(M + 1) * (14 - M) = (12 - M) * (5 + M) 
14M - M2 + 14 - M = 60 + 12M - 5M - M2 
13M + 14 = 60 + 7M 
6M = 46 
This is impossible as the value of M must be integer. 
Case II: Let's assume that I am a woman, then the equation is 
(M) * (15 - M) = (12 - M) * (5 + M) 
15M - M2 = 60 + 12M - 5M - M2 
15M = 60 + 7M 
8M = 60 
This is also impossible as the value of M must be integer. 
Case III: Let's assume that I am a boy, then the equation is 
(M) * (14 - M) = (13 - M) * (5 + M) 
14M - M2 = 65 + 13M - 5M - M2 
14M = 65 + 6M 
8M = 65 
This is also impossible as the value of M must be integer. 

 

Case IV: Let's assume that I am a girl, then the equation is 
(M) * (14 - M) = (12 - M) * (6 + M) 
14M - M2 = 72 + 12M - 6M - M2 
14M = 72 + 6M 
8M = 72 
M = 9 
Thus, I am a Girl and there were 9 men, 5 women, 3 boys and 14 girls before I arrived at the party. 
========================================= 
Brain Teaser No : 00038 
The population of an island consists of two and only two types of people : the knights, who invariably tell the truth and the knaves who always lie. 
* three of the inhabitants called X, Y and Z were standing together. A newcomer to the island asked, "Are you a knight or a knave?" X mumbled his answer rather indistinctly, so the stranger could not quite make out what he had said. The stranger than asked Y, "What did X say?" Y replied, "X said that he was a knave." Whereupon Z said, "Don't believe Y, he's lying." What are Y and Z? 
* Suppose that the stranger asked X, instead, "How many knights among you?" Again X replies indistinctly. So the stranger asks Y, "What did X say?" Y replies, "X said that there is one knight among us." Then Z says, "Don't believe Y, he is lying!" Now what are Y and Z? 
* There are only two inhabitants, X and Y. X says, "At least one of us is a knave." What are X and Y? 
* Suppose X says, "Either I am a knave, or Y is a knight?" What are X and Y? 
* Consider once more X, Y and Z each of who is either a knight or a knave. X says, "All of us are knaves." Y says, "Exactly one of us is a knight." What are X, Y and Z? 
Answer 
Teaser 1 : A Simple one. The statement made by Y is false - "X said that he was a knave". 
Case 1 Case 2 Case 3 Case 4 
X Knight Knight Knave Knave 
Y Knight Knave Knight Knave 
Analyse the above 4 cases. In all the cases statement made by Y is contradicory and therefore false. Hence, Y is Knave and Z is Knight. 
Teaser 2 : Again the statement made by Y is false - "X said that there is one knight among us". Analyse these statement with 4 possible cases as above. In all the cases statement made by Y is false. Hence, Y is Knave and Z is Knight. 
Teaser 3 : X is Knight and Y is Knave. 
Teaser 4 : Both are Knight. 
Teaser 5 : X and Z are Knaves, Y is Knight. 
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